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B QUANTITATIVE TECHNIQUES IN MANAGEMENTE
' . SEMESTER END EXAMEBI{ATION
. T S MEWMMM/ VERDM/MIM I SEMESTER T :

MUMAKES 60 - s 0 _, DURATION 3 HES.
Note: Question no 1 is compulsery. Attemnpt ANY FOUR fromof Q.. 210 Q. 8-
Calculators, graph papers and statistical tables are allowed.
Please make assumptions if any and write them clearly.

Q.1 {a) Evening shift resident doctors in a hospital work five consecutive days and have two consecutive

days off. Their five days of work can start on any day of & week and the schedule rotates indefinitely. The

hospital requires the following minimum number of doctors working for various days of a week:

L 1A

. .

tun Mon  Tue  Wed Tluus Tri Sat ‘ : v

- 35 33 60 50 - . 60 56 . 45 '

- No mors than 40 doctors can sstart their five working days on the same d'ty Formulate a finear
programming programme 1o minimize the number of doctors emplioyed by the nospltal T

Q. 1 (b) The customer account at a certain departmental store have an average balance of Rs. 480 and a
standard deviation of Rs. 160. Assuming that the account balances are normally distributed , what

proporticn of accounts is (i) over Rs. 600, (11) betweéi Rs. 400 and Rs. 500 and (m) between Rs. 240 and

Rs. 3607 2 >

prsy=ey . E’
Qz (@ lna certain locahty, half the households is known to use a particular brand of scmp In & household
survey, a random sample of 10 households are ailofted to each investigator end 2048 investigators are
appointed for the curvey. How many investigators are likely to report [© 33 users, (11) not more than 3 users

gt (i) at leest 4 users? - L £ Q_}L) PN

Q. 2 (b) A Company \;\hrch supphes neédles to hospitals, would like to reduce its inveniory cost by
determining the optimal number of néedles to be purchased from the manufacturer, The anmmzal dgmand of
needles is 10, 000 inits. The ordermg cost i Rs. 200/= per order, and the hoiding cost is Rs. ¢.50 per unit
per year. (a) Calculate the optimal order size. (b) Assuming a 250 days per year, find the namber of omcrs
and thc expected time between the orders. (¢} Calculate the total inventory variable costs per yeari e LSRN

3 {2) The probability of breakdown of & high valus electronic equipment due > power fluctuation is
¢ O 02 The manufacturer has sold 50 of the equipment it the past six months. Calculate the proo ability
that:

. : ni,q
7 . o
() At least 3 break down due to power fluctuation

(iD) At most 3 break down due to power flugfuation

(iii)  Nohe of them breakdown due to power fluctuation

(iv) What is the expected number and standard deviation of equlpment breaking down?

Q. 3 (b) A bank branch in a small suburb has a smglc teller counter. Customers arrive aI/thﬂ branch at a
rate of 30 per hour and arrtvals are Poisson distributed. The teller takes an average of 1.8 minutes to serve
a2 cuslomer and service time is exPoneutlaHy dis tnou ted. Customers are served on first cmv - firsi-
ssrvaed basis and customers wait if need be.

F



. What is the probability that the courter e fdle?

(i) Cajculete the avarage quraber of custornsrs waiting to be served? =
(i) On an average, how long does a customesr wait before e is attended to be the tellec?

{iv} How much time doss & customet spend in the bank on an average?
() What is the average aumber of customers waiting to be served or being served?

(vi)  Suppose the flow of customers increases to 45 per hour, What will be the value of the varicus

queus parameters?

mes of inedical equipment and there are five marufacturers

Q.4 (a) A hospital wants o purchase three ty
who supply all the three types. However, the hospital has a policy of not buying more than one equipment
from 2 manufacturer, The data relating to prices quoted by the different manufacturers for the three

equipment are given below:

Viamifaciurer _Bquipment]____Bauipieat [ Eguipment 2
e

A 30 31 , 27

B 23 29 26

B A 30 28

) 31 ' 27

E 3 29 ' 26

cost of the three

e which manufacturer shoud be chosen for cach equipment such that the total

Determis
o determine the minimum total cost.

equipment is minimized. Al
inn, the following Simplex tableaun was obtained for a maximization prablem (X,

; Q. 4 {b) During fterar
9. and §y are slack variables):

'
X and X, are the decision vaciabies, while 54, S,

\\: r"_'.-_"—vﬂ‘__i -‘_'“_'-"\I Py ™
S O N 2
Fasis | Golativn b __ 1 % | %
L 11 0

[

Answer the following:

- a). 1s the sotution optimal? Give reasons.
What are the vaiues of the decision varisbles according fo thi
Comment on the utilization of resources.
Doas the problem Have an alternative opti
S The resoulto reprasented by S4 is svailabie at Rs.
7 Bxplain.

B T If the profit asscciated with X, has 1
product mix? Explain.

s solution and what is the profit?

mum solution? Give reasons. ,
{0 per unit. Would you recommend cbtaining

noreased to Rs. 5 per unit, would you recommend rovising the

(.5 {a) The table below records transportation COStS per un it of a product from eriging 0102,0: and Oy 1o
destinations [, D2, D3, Ds and Ds. The capacities of the four origins are respectively 55, 45, 30 and 50

he five destinations are respectively 40, 20, 50, 30 and 40, Employing Vogel's

while the requirements of t
ke the initial allocations to the origins to satisfy the requirements

r\;pprrii‘mation method, or otherwise, ma




of the destinations.and test the optimality of these allocations. Use Modified Distribution method (MOUI)
for obtaining an optimal solution that would minimise the total cost of transportation.

Ky

b Destination !
""f- Crigin ‘ Capacity
: - D, Dy Ds Dy Dy
O 12 4 9 5 9 55
0O, 8 B 6 6 7 45
05 ' 1 12 , 4 e 7 30
Oy 10 - ° 15 6 9 1 50
Raqulrement 40 20 50 30 40
Find the total cost implied by the sclutmn Is the solution unique? If net, find an alternative solution as
well.

Q.5 (b) The research department of Hindustan Lever has recommended the marketing department to
launch a shampoo of three different types. The marketing manager has to decide one of the types of
shampoo to be launched under the following estimated pay-offs (in millions of Rs} for various levels of

sales:
‘ Estimated level of sale (Units)
Types of Shampoo )
15,000 10,000 5,600
Egg shampoo 30 10 10
Clinic shampco 40 15 5
| Deluxe shampoo , 55 20 3

What will be the marketing manager’s decision if () Maximin, (b} Maximax, (c) Laplace, and (d) Regret
criterion is applied? :

records have shown the following demand pattern.

Quantity required (kg) Co 15 20 25 30 35 40 50

No. of days demand occurred  : 6 14 20 80 40 30 10

~ The stock levels are restricted to the range 15 to 50 kg due to inadequate storing facxhtles Butter costs Rs.

40 per kg and sold at Rs. 50 per kg.

-% Q.6 {(a) A dairy firm wants to determine the quantity of butter it should produce to meet the demand. Past
£

(i) Construct a conditional profit table
(i) Determine the action alternative associated with the maximization of expected profit
(i)  Determine EVPL ‘

Q.6 {b} Friendly’s Department Store has been target of many shophﬁers during the past month, but owing
to increased security precautions, 250 shoplifters have been caught. Each shoplifter’s sex is noted; also
néted is whether the perpetrator was a first-time or repeat offender. The data are summarized in the table.

Sex First-Time Offender | Repeat Offender | total
Male 60 70| 130
Female 44 76 | 120
Total 104 146 | 250




Assumin

h l<..'.’
offender

(© d & tepks
\ocator trafsmitter {ELT) is a device designed to transmit a signalin the F
% case of a crash. The Altigauge Manufacturing Company makes 80% of the ELTs,the Bryant Company .

makes 15% of thern, and the Chartair Company makes the otherS%. The ELTs made by Altigauge have a
4% rate of defects, the Rryant ELTs have a 6%rate of defects, and the Chartair ELTs have a 9% rate of o
%

defects {which helps i0 explainwhy Chartair has the lowest market share).

a. 1f an ELT is randomly selected from the general population of all ELTs, find theprobability that it was
made by the Altigauge Manufacturing Company. ¢ % ’

b, If a randomly selected ELT is then tested and is foun
made by the Altigauge Manufacturing Company elhd

4 -
" Q. 7 (a) An aireraft emergency

d to be defective, find theprobability that it was

Q.7 (b) Attemipt using the Graphical Method the following problem:

: ngimizé_ Z= f(x.y)
subje

/d. § (a) The dozens of banana demanded in a santeen of 2 large orgahizﬁtion are given below ..

174
Demand Dozen 20 22 24 26 28 30

£~

Probabilisy 0.08 012 020 025 0.25  0.l10

Use the series of random numbers to simulate the demand of banana for next 8 days.

Random Numbers 45 12 99 g1 23 17 64 58

Q. 8 (b) A bockcase contains 6 different mathematics books and 12 different physics books. If a student
selects 2 books randomiy from this bookease find the probability that
1} both are mathematics bocks - .
- .2Y both are physics books .
3) onie book of each mathematics ¢

ol T s e
B T TR AT R,
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Mato: Attemnt ANY FIVE Qunsnoqs fmm gwen EIGHT QUESTIONS

All questions carry equal marks. Statistical tables, - calculators are allowed. Graph papers will be
provided on demand. iake i "le‘,essary aasumpdo-ls sf any and wrhe thein clearly.

=(0:0183b
@ a A salesman estimates the probabthty of his sallmg the product to a prospective buyer is 0. 4 if he
1"

s 1o selt his producl on the first contact, he contacts the buyer for the second time and feels that the
probability of selling the praduct impraoves ta 0.6. However, if’he fails during the secand contact toa, he
drops the idea of selling the producl to this customer. Find the probability of his selling the product to the
© prospective buyer. S . .

@ b An investor has four optlons to invest Rs. 10,00,000 i.e. A,B,C and D. To play safe, he decides not
5

pend more than 50% of the total investment in B and /or in C. Investment A Is very conservativie and
D is the most speculative of all the four investments. To avaid excessive speculatian at least Re 1 must
be invested in A for every three rupees invested in D. The expected returns on A, B, C and D are 10%,
12%, 14% and 16% respectively. The investor wishes to invest in such a way that he maximizes the

T ictal reiuin on investiment. Fu:mu!ate a finear progmmmmg problein to estimate how inuch should he

invest in each?

= 12x% +2Qy
Subject to x+yz=7 5x+2y220 X, yz0
h the above problem if the objectwe function is to be maximized, what coniclusion would you draw?

ﬁ Solve the foliowing LPPgraphICaIIy . N ) - T
&

The incidence of occupational diseases in an industry is such that the workmen has 20% chance
fering fiom i Whal is the probability that ouf of G wortkimen at least 2 will have ihe diseases ?

Q. 3 a Given below is the simplex table far a maximization type of LPP

B Cb X1 X2 S $2 b

X2 4 1 1 1 0 6
S2 0 1 0 -1 0 2
¢ 3 4 0 0

Zj 4 4 4 0 24
Cj-Zj -1 0 4. 0

(1) Literpret the final onnplex lable above

LR R

12) Mmrhinmo {\( f\r(‘*/\r\lﬂ'(\rj wa H—} elﬁpl( 31 ) h..’)f; tn bc Sh!_:t ﬂC‘-‘Jﬂ ff;r rcpair fCr 2 hcurs ncxt At
How much will be the reduction in profit ?

(3) Wizt iz ig mzxinui you Would be prepared (o)

each on machine A and B ?

vay (1o

another hour { per week ) of capaciy

Q.3 b Chemicel creducts Lid prods..ces a compcund which must be sold within the menth it is preduced
. if the normal price of Rs 100 per drum is to be obtained. Any thing unsold in that month is sold in




m During the fast three

different market for Rs 20 per drum . The cost price of dium i8R S5 par diu
vears monthly demand of the drum was in the range of 10 to 18 per manth
(1) Prepare ihe appropriate pay off table . A & L R ,
(2) Advice the manogement on the number of drums tnal should be produced naxt month using
Laplace Principle . . . _ S :

-

BErAe

yg Soive the foliowing assignnment 'problerﬁ by Hungarian asslghment method.

* Time (In minutes)

Worker Job 2 - Job 3

aCIN

%a/b A doctor has decided to prescribe two niew drugs to 200 heart patients as follows:

0 get drug A, 50 get diug B, and 100 get both. The 200 patients were chiosen so that each had an g
parcent chance of having @ heart attack if given neither drug. Drug A reduces the probability of 2 hear
attack by 35 percent, drug B reduces by 2Q percent, and the two-drugs, whan taken togetner, work
independently. !f a randomly selected patient in the program has a heart attack, what is the probabitity

that the patient was given both drugs? - .-

The lable below records transporiation costs per unit of a product from origins 01, 02, O3, and
QiAo destinatians D1, D2, D3, D4 end D5. The capacitates of the four origins. are respectively 55, 45
30 and 50 while the requirements of the five destinations are respectively 40, 20, 50, 30 and 4p,
Employing Vogel's Approximation method, or otherwlse, make tha Initlal allocatlons to the origins tp !
sotisfy the reguirements of the destinations and the test the optimality of these allocations. Use Modified |

. Distribution Method (MODI) for obtaining solution that would minimise the total cost of transportation. ‘

Destination’

Origin - - Capacity
: D1 D2 D3 D4 D5
o1 12 4 5 5 g 55
Q2 8 1 6 6 7 45
Q3 1 12 4 7 7 30
04 10 15 6 9 1 50
Requirement 40 20 50 30 40

Fing Uiz {ulal cost implied by the solution “is {he solution unique? If not, find an aliernative solution as
vwell, -
. Ta
5 b) |The Quality Manager of a biscuit factory is inspecting a batch of chocolate chip biscuits. If the
production process is in control, the average number of chocolate chips per biscuit is 4.

a) What is the probability that in any biscuit inspected,




(i) fewer than 4 chips will be found? - (i Exaclly 4 chips will be found?

(iii) Five or more chips wili be found? b} What is the probabiiity thal no chips will be found in two biscuita’

¢) What is the expected number and stardard deviation of chocolate chips in & biscuit?

3 The annual demand for an automobile component is 36000 units. The purchase price of the
ponent is Rs.50 per unit and the carrying cost per year is 1 % of the inventory value. The lead time
for the component is 5 working days and the ordering cost is Rs. 250 per order. The number of working
days is 300 per year. Determine:

a) the Economic Order Quantity b) the number of orders per year

¢) The ordering and inveniory carrying costs associated with ordering the EOQ?

d) The tength of the inventory cycle? e). The re- order paint?

) thfa savings achieved by ordering on ECQ basis as against the policy of ordering 4 times a year?

In the past several years, credit card companies have made aggressive attempts to solicit new |
ts from students. A sample of 200 students at a coliege was taken and the following information i

-was collected regarding the possession of a credit card:

Gender Possessing a credit card
L Yes NO Total
Male 60 60 120
Female . 15 65 80
Total 75 125 1200 R

a. What is the probability of a student possessing a credit card?

b. \What is the nrobabiity that 2 persen selected is 2 mals credit cord holding student?

¢. If a randomly selected student possesses a credit card, what is the probability that the studentis a
male?

d. What is the prohability that 2 female student rendomly selected has 2 eredit card?

e. Are gender and possession of credit card statistically independent?

Q. 7 a A retail store at ihe Crowford Market dealing in Bakery iteins has one attendaiit who provides ihe
goeds to the custemer cne by cne 3s 2nd when they zrrive. The owner =it ot the counter 2nd receives
payment. Many a times he sees that there are customers waiting and some time of the day it is lull. He
wants (0 make an assessment of the average waiting time of a custormer. If the averaye waling time of
tha customer is more than 15 minutes, he dacides to hire ¢ halping hand far the oHendant. The intar |

arrival time and the serving time are observed on typical day. The data is as follows
Simulate the process for 10 rounds and suggest what the owner should do.

Interarrival time 5 8 10 in minute
FProbability 0.2 0.8 0.2

Service fime 10 12 4 in minutes
Probabitity 0.5 0.4 0.1

You may use the following set of random numbars for



.

Gz ¢ c: 73 14 43 52 84 98 13
34 6 4 46 99 72 7 7 46 9

Q. 7 b A imovie is reteased on Friday and is vun in a tneaire for a period where wie number of viewers
o1 C“

L tn maks up the cost of runping the movie, In Movie Stor Theatre” the rumbar of weaek ¢

S AN

pasf few films had run are given in the table below
k 5 g. 7. 8
No. of fitms run successfully 1 4 3 2

0,000 and revenue generated is Rs. 1,20,000. if the film i
re is ainost emiply and # coiscis oy Rs. 10,5

The cost of running the film for a week is Rs 5
fun for more han its demandsd weeks lhet
week. . ‘
How many weeks the film should be run so that the gain is the maximum? If the theatre operator want:
(s know about the interest of the movis gosrs in the {ilm, how mudch budget e should aliocais 1o get thk

information®?

¥
fumomt
itail i:;e

Pl

Q 8/3 Indira Gandhi International Airport is a very busy airport in India. Almost ail the major cities i

tin and international destinations are ponnacted {o this airport. Escause of this, tha single nin woy &

Sad &F s Hrtmtanans

“sometimes busy and hence there is congestion of airplanes. Hence the planes are kept rotating in the

skies. The cost of an aero plane kept rofating is Rs. 3,600,000 per hour per airplane. To reduce the

cangestion Airmort Autharity of Indiz iz.congidenng conatructian of ancther run way., The catt ¢ .

construction is Rs. 1400 lakhs. W the amount.of rotating cost for the next two months is more than the
cost of construciion ithen the authorily is ready io underiake it immediately. ‘
Avarage numbnr of planes coming for #tying or landing is 4 par hour and the avorngs number of i

planes can be made to-either fiy or land.
Should the airport Authority of India takeover the new run way project imnmediately?

@ The popular Television serials are generally given a time slot of half an hour. But actaal time fo

me story in ihe haif an hour siot is normaily distriputed witn a mean of 19 minutes and a staindar

daviation of 4 minites, f a madom serizl apisede issesnon @ tonday avaning |, what is the probnbitiy
. v

that the actual time of the story is i) less than 20 minutes, i)y more than 23 ‘minutes i) is between 1£
minutes to 22 minutes? ‘

s P MR W I s G
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Note Attempt ANY FIVE questions from given @ questions.
Make assumptions wherever necessary and write them clearly.

\Wn investor wishes to invest Rs 1,00,000 in fixed: deposits, government bonds mutual funds and
stocks. To avoid excessive investment he must npt invest more than 50% of the total investment in

Government ‘bonds and for mutual funds. He further decides that he must invest at teast Rs 1 in fixed
deposits for every, Rs 3 invested in stocks. The anticipated returns on investments are

Fixed depoSats 10% mutual funds  14%

Government bonds 12% stocks 16%
The investor wishes to know how much to invest in each instrument so that he wiil maximise the return on
investment. Formulate this as Linear Programming Froblem.

Q. 1 b In a factory burning out optical lenses, there is @ small chance 1/500 for any lens to be defective. ThHe

lenses are supplied in packets of 10. Use Poisson digtribution to caiculate the approximate number of
packets containing

i. no defective ii. At least one defective in a'consignment of 20000 packets.

\/Q24he owner of a small.-machine shop has four mechanics available to assign jobs for the day. Flve jobs
are offeredwith 2 expected profit in Rs. For each mechanic on each job zs follows

Determine the asagnment of mechanics to jobs that will result in maximum profi‘f Which job should be
declined? .

Mechanics Jobs A B C D E
1 62 78 50 101 az
2 74 g4 81 73 59
3 87 €2 111 71 81
4 48 64 87 77 80

Q. 2t A municipal bond service has three rating categories (A.2, and C). Suppose that in the past year,
Of the municipal bonds issued throughout the United States, 70% were rated A .20% were rated B,
"~ and 10% were rated C. Of the municipal bonds rated A, 50% were issued by cities, 40% by
suburbs, and 10% by rurai areas. Of the municipal bonds rated B, 60% were issued by cities, 20%
by suburbs, and 20% by rural areas. Of the municipal bonds rated C, 90% were issued by cities, 5
% by suburbs, and 5% suburbs, and 5% by rural areas.

“a. If 2 new municipal bond is to be issued by a city, what is the probability that it will receive an A
rating? ' '
b. What proportion of municipal bonds is issued by cities?

%5 a . The follovsnng table shows all necessary information on the availability of supply to each warehouse,

the requiremsnt of each market and the unit transportation cost from each warehouse to each
market : ' '

A 6 3 5 4 22
B s g 2 7 15
C 5 7 8 3] 8
| Requirement 7 12 17 @ |




Md the solution to above transportation Protlem by Vogel's Approximation methad

O mingnize cost
1 _AD) check the opfimality of the solution obtained by above (&} { oplirnality Check only )

Q.3b Indian Airlines (Indian) operates five fights dally from Mumbai to Dethi Suppose the
Probability that any flight arrives jate at Bangalors is 0.20. WhatIs probability that none of the flights
- are late today? What is the probability that exactly two.of the flights is late today?
Q.4 a A warehouse has one dock used to unload raiiread freight cars. tncoming freight cars arrive during the
night. It takes exactly halt a day to unioad a car, [ffiore than two cars are waltmg 10 be unloaded on 2
given day, some are postponed to the n%

Past experience has indicated that the number of cars arrlving during the night have the following frequency
of occurrence:

Number of cars arriving. Q 1 2 3 4 5 6 or more Fereentage—oi—

time 0.23 0.30 030 0410 005 002 000 .

Use simulation (perform 10 trials) to find out the average number of arrivals And the average number of
trucks deiayed to the next day. An extract from the {able of random numbers is given below:

97 95 12 17 90 49 57 13 T8 81

02 92 75 o1 24 o8 39 22 13 01

80 67 14 59 16 83 69 63 76" 08

77 24 72 57 32 15 48 63 0C 04

88 76 20 28 72 12 77 23 79 46

Q 4 b A pizza chain is evaluating a particular prospective site for setting up an outlet. It hag to decide the
size of the outlet should be small, madium or large or whether to build none. The market research team
has made the following estimates of present value of annual profit in lakhs of Rupees for eac;h size of

outlﬂt

Slze Demand
Low | Medium | High

Small 48 132 3.0

Medium 6.4 | 212" 7.8

Large =10 | 12 35.0

No restaurarnt | 0 0 Q

)] If the probabilities for low demand and medium demand are 42% and 36%, what shou[d the

decision be?
(i) Calcutate EVPL

Q. 5. Hi-F produces two models of e!ectromc gadgets that use resistors, capacitors and ¢hips. The

following table summarises the data of the resource reqwrements avaitability of the resources and the
unit contribution of the models::

X

Requitement/ unit Maximum : A
Resource Model 1Modet 2availability (units) , P
Resgistors - 2 3 ' 1200+ < (5
Capacitors 2 1 1000 : %

Chips 0 4 800 .
Unit contribution(Rs.) 300 400

The company formulated the problem as a linear grogramming problem and obtained the following table in
an iteration: (X1 and X2 cre the number of units of modeis 1 and 2 and 81, 82 and S3 are the slack -
variables carresponding o ‘he resources),

o
P



Basis | Cb [ X1 |X2 |81 & |53 [ Vale.
X7 300 11 |6 1-7&4 374 [¢ 450,
[y : ¢
Lt A |

~ - vy B
S:&, @ 0 o |-z pl i 4??’)/} |
X2 400 [0 |1 [W2 |1z |0 100 -
A i
zZ 0 [C [125 125 |0 175000

) S

Answer the following questions based on the above table:

t~8)

3 =5

Is the above solution optimal? If not, derive the optimal soluticn.
Interpret the optimal solution,

//f;)/D_ete_(mine the siatus of usage of each resourde.
)

If terms of the optimal profit, determine the worth of one resistor, one capacitor and one chip.

e) if the availablé Rumber of résistors is increased to 1300 units, find the new optimum solution and -

fs

e

ah)

profft- . S ) .
If the available. number of chips is reduced to 450 units, what will be the revised optimal mix and
profit? . ) :

i !
Find the increase/ decrease in the unit contribution of the models that will not irmpact the curpént

-optimal mix?

A nhew contractor is offering Hi- Fi additional resistars at Rs. 40 per resistor but cnly if Hi- Fi is ready
to purchase at least 500 units. Should Hi- Fi aceeptthe offer? ‘

Q.62 An oit company has recently acquired rights in a certain area to conduct surveys and test drilfing to
' lead to lifting oil. The area is considered to have good potential for finding oil. At the oulset, the

company has a choice to conduct further geological tests or to carry out a driling pregramme
immediately. On the known conditions, the company estimates that there is a 70.: 30-chance of
further tests showing a “success”. Whether the tests show the poscibility of ultimate success or not .
or even if no tests are undertaken at all, the company could still pursue its drilling programme or
alternatively consider seiling it rights to drill the area. Thereafter, however, if it carries out the dilling
programme, the likelihood of final success or failure is considered dependent on its foregoing
stages. Thus, if successiul tests have been carried out, the expectation of success in drilling is given
as 80 : 20. It the tests indicate ‘failure’ then the expectation of suceess in driliing given as 20 : B0, if
no tests have begn carried out at all, the expectation of suczess in drilling is given as 55 : 45, Costs
and revenues have been estimatad for ali possible outcomes and the net present value of each is
given below. :

Outcomes X ) Net Present Value (Rs. Millions)

With prior tests - 100

Without Prior fests 120

Faiture

With prior tests : =50

Without prior tests ‘ -40

Sale of exploitation rights . _

Prior tests show 'success’ . 85

Prior tests show ‘failure’ 15

Without prior tests o 45
{i) Draw & decision tree diagram to represent the above information. Evaluate the tree in crder

Q€b

to advise the management of the company on its best course of action.
A company has determined from its ahalysis of production and accounting data that, for a part
number KC-438, the annual demand is equal to 10,000 units, the cost to purchase the item is Rs.
36 per order and the holding cost is Rs. 2/unitiyear.

Determine

EN



Q.72 businessman has 3 aiternatives open to him each of which can be
possible events. The conditicns payoffs (

Find out which atternative should be adopted, if the businesé man adopts the minimax regrét criterion,

{a) What shor'ld the Econornic Order Quantity be?

(b} Whatis the number of days’ suppiy per optimum order?

fo1l0w§d by any of the four
in Rs.) for each action even combinations are given below:

Alternatives Payoffs conditional on events

& b C d
A 7 0 — -10 5
B -4 11 18 2
C 13 5 0 7

Smith finds that the roseb
rosebush?”

Q. & a The metropolitan Clinic provides low cost medical care for nonemergency patients, There is aiways
one doctor on duty in the clinic. The visits to the dlinic are not scheduled. The patients drop it &t random. A
proposal has been made that additional doctors be assignied to the cff
treated dimultaneously. Projecting the available data into next year, it appears that patients will artive at an
of 2.5 per hour. A doctor requires an average of 20 minutes to treat each patient. The
ng just one doctor; to add a second doctor or even a third,
mes 4 and by the introduction of the third doctor the service
Suppose that the cost associated with having a doctor on duty is $20 per hour. The
‘ patients spend is § 15 per patient

average rate
alternatives being considered are {o continue havi
By adding ore more docter the service rate beco
rate becomes 6.
estimaied 1655 0 Qood Wil und FUie Lot wnas i

Q. 8 b In studying the causes of power fallures, t
5% are due to transformer damage

~

1% involve both problems

Based on these percentages, aﬁproxi:ﬁa’(é the probability that a given power failure involves

Q. ¢ a Steve Gold man production foreman for

sioihe sinindua o thatime

per hour. Find the most desirable alternative and explain why.

nese data have been gathered.
80% are due to line damage

i. - [iné damage given that there is transformer damage
fi. transformer damage given that there is line damage
i, transformer damage but not line damage
iv. transformer damage given that there is no fine dédmage
V. transformer damage or line damage

sales of oranges is 4700 and a standard deviat
is the probability that the sales will be

i. greater than 5500 oranges
iii. l[ess than 4900 oranges

Q.8

olve the following using graph
="

Minimize 24X,+28X,°

Subject to 5X,+4X, 2000

Ha

280

the Florida Gold Fruit Cbmpany, estimates that the average
ion of 500 oranges. Sales follow a normal distribution. What

il. Greaterthan 4500 oranges

iv. between 4650 to 4950 oranges.

Xy +X28300

Xoz 100X352=T

Ny My 7P

. 7 b " Mr. Smith's gardener is not dependable; the probability that he will forget to water the rosebush
'/?uring Smith's absence is 2/3. The rosebush is in & questionable conditjori, anyhow;’ if watered, the
probability for its withering is % if it is not watered, the prabability for its withering is3/4. Upon returning,
ush has withered. What is the probability that the gardaner did hot water the

nic so that several patients can be
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All questions carry equal marks. u :

Make assumption if required and siate tem clearly.
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Q.1 (2) Evelyn Parkhill is considering three ;Sbssible ways to invest the $200,000 she has just inheritcd,

(1 Some of her friends arc considering financing a combined laundromat, video~game arcade, and
pizzeria, where the young singles in the area can meet and play while doing their laundry, This venture is
highty risky and could result in either a major loss or a substantial gain within a vear. Ewvclyn estimates that
with probability 0.6, she will lose all of her money. However. with probabifity 0.4, she will make a $200,000
profit.

2 She can invest in some new apartments that are being built in town. Within | vear, this fairly
conservative projest will produce a profit of at least $10,000, but it might yield $ 13,000, 20,000, $23,000, or
posaibly even $30,000. Evelyn estimates the probabitity of these five retums at 0.20, 0.30, 0.25, 0.20, and 0.03,
respectively. .

(€3] She can invest in some government securities that have a current vield of 8.25 percent.

@ Construct a decision tree to help Evelyn decidé how to invest her money,

(b) Which investment will maximize her expected 1-year profit?

() How high would the yield on the government bouds have to be before she would decide to invest in
them? : . .

(d) How much would she be willing to pay for perfect mformation about the success of the faundromat?

(e) How much would she be willing to pay for perfect mfonmation about the success of the apartments?

Q.1 (b) A company manitfactures around 150 mopeds. The daily production varics from 146 to 154
depending upon the Availability of raw materials and other working conditions.
production per day 146 147 148 149 500 131 152 153 154

probability 0.04 009 012 014 011 010 020 012 0.08

The finished mopeds are transported in a specially arranged lorry accommodating only 130 mopeds. Using
fotlowing random numbers 80, 81, 76,75, 64,43, 18,26 10, 12, 65, 68, 69, 61, 37, simulalc the process io find
out: '

(i)  What will be the average number of mopeds waiting in the factory?

(i) What will be the average number of empty spaces on the lorry?

Q.2 (a) A small industry finds from the past data that the cost of making an item is Rs. 25, the selling price of

" the item is Rs. 30 if it is sold within a week, and it could be disposed off at Rs. 20 per item al the end of the

week 1f unsold. Frequency of weekly sales is given below: _

Weekly Sales - <3 4 5 6 7 >8
No. of weeks - 0 10 20 40 30 G
Find the optimum number of items per weck the industry should make.

Q. 2(b) Braneast Airlines vses 500 taillights per year.” Each time an order for taillights is placed, an ordering
cost of Rs.5 is incurred. Each kght costs 40 paise, and the holding cost is 8 paisc/light/year. Assume that
demand occurs at a constant rate and shortages are not aowed. What is the EOQ? How many orders will be
placed each year? How much time will elapse between the placements of orders?




/Eu,i" in the rules regarding transfer of property N GOOS. creeeeeerenrienss {10}

«f

7

Explain the doctrme of ultra vires with reference to the case law.
Do you thir&&tereisaneedforthisdoctrineinmecurrent

GCETIATIOT cemneeunrrrmenssmrasrmssreasrrsssassesrassanas carasreonraeneennsratyas wesreenea( 10)

(b/) Explain the doctrine of “mdoor management’ with reference to the
CASE LAW . ormmrreeeemossrmssssressessssmssrsmestarorsstmsness s s s AT S (10)

Q5  Describe the defining features of the following types of companies:

(a) Private Limited COMPANY .o wwerrcrssermsssrsmsssmsmmrssssemmasassssms s (5)
(b} Governnent COMPANY — v rwmrersarmsssarsssssrramas s (5)
{c) FOTEIGE COMPAILY worerossssorseesrs oo (5)
(dy  Company Limited By CUUATAIIEEE eeeeerranresmaesoncasssnraemmscascasoastaseasessansrasssssasaseses (5)

Q6 gy~ Describe the compulsory clauses in the memorandum  of
association of a company. (10)

ka/ Discuss the instances where the courts have lifted or pierced the
B L I (10)

- R .
Q7 Write short notes on any of the following:
(5( Termination of offers........... - VUSROS {5)
(‘l:f)/ '- Undue -3 A JE—— 5)
(c)/ Voidable CONITACS cccomrmmsmmrasemsermsissssanse resrrermsmsmsansenna(D}
( " Articles of assoCiation. - . R SRR (5)
(e) Breach v. amﬁcipatorﬁr DEEACKL. covneeeeercsereresassamsssramssassamsnsssesemsasamsomsinr iz imsuesiasse 5)
Do

S)f“‘:f\“



Q-3 (2) Soi C'Tarry, a prison administraior, had been reviewing the prison records on attempted escapes by
inmates. He has data covering the last 45 years that the prison bas been open, arranged by seasons. The data
are summarized in the table.

Aticmpted Escapes Winter .__Sprins Summer Faii
0 3 . 2 1 0
1-5 13 10 2
6-10 15, 12 i1 16
11-15 5. 8
16-20 3 4 6 5
21-25 2 4 5 3
More than 25 2 5 4 2
45 45 45 45

(1} What is the probability that in a year selected at random, the number of €scapes
was between 16 and 20 daring the winter?

{ii) What is the probability that more than 10 escapes were attempted during a randomly chosen summer
season?
1i1) What is the probabilily that between 11 and 20 escapes were attempted during a

randomliy chosen season? (Hint: Group the datd together)

Q. 3 (b) Ar oil company is in the process of forming a bigh speed rescue unit to cope with emergency
situations at its off- shore platforms. The rescue team consists of 6 personnel, who undergo comprehensive
training in all specialist rescue activities for reasons of flexibility. They are to be assigned fo the specialist tasks
based on the marks they obtained in the training program for the various specialist tasks. The marks are given
in the table below. Assign the personnel to the tasks in an optimal way, so as to maximize the total marks of the

teamn,
| Trainee No.
Specialist task 112 |3 |4 |5
Unit Leader 2103 | 21115715
Helicopter Pilot 30111 (1618 |16
First Aid 2812 |11]16|25
Drilling Technology | 19|16 [ 17} 16 | 19
Firc Fighting 26 (21 | 22|28 29

74 {a) The Q-ijalily Manager of a biscuit factory is inspecting a baich of chocolate chip biscuits. If the
production process is in-con&ol, the average number of chocolate chips per biscuit is 6. What is the probability
that in any biscuit inspected,

(1) No chips wiil be found? (i) Fewer than 5 chips will be found?
(iii) Five or more chips will be found? (iv) Four or five chips le/?be found?

Q.4 (b) The Nagaf Seva Co- operative Bank is planning jts credit operations for the next vear. The Bauk
advances {ive types of loans, which give varying returns. Theﬂtype of: loan and the average annual return (in

péreent) arc given belotw:
Type of Loan personal forcign travet automobile  second home  first home
' Mortgage mortgage

Average ahnual retwn 15% 12% 9% ' 10% gos

)(‘




Mandatory requitcraents and Bank’s policy place the following limits upon the amounls of various types of
loans: Personal loans cannot exceed 10% of the total amount of loans. The amount of personal and foreign
travel loans together cannot exceed 20% of the total amount of loans. First home mertgage loans must be at
least 40% of the total home mortgage loans and at least 20% of the toial amount of loans. Automobile loans
cannot exceed amounts advanced as home loans. The Bank has a maximum availability of funds of Rs. 15
crore. Formulate this problem as a linear programming probier. to maximize revenue from loan interest. Do
not soive. ‘

Q. 5 (3). During iterations using the Simplex method, the following tablcau was oblaincd. Fill in the values for
the starred positions. (X1, X2,, X3 and X4 represent the mwnber of units of four models of 2 washing machine
while X, X, Xyand X; are the slack variables representing production hours, testing hours, raw material 1 and
raw material 2)

400 600 800 1000 * * * 0¥

C: Xs RHS XJ X2 X3 X4 X5 X6 X7 X8

* X8 30 -1/s 0* ;5 * e -172 % *

* X2 125 2 * 0 . * 174 34 * *

* X7 3 310 *  b/S o+ 3/20 v4 o* *
* x4 30 /5 * 4f/5 * -0 1/2 0* *
Cj- 7j * * * ¥ * * * *
. Answer the following questions, giving reasons where required:

a Is the solution optimal? If not work out the optimal solution,
(ii) Interpret the optimal solution. Comment on the meaning of the slack variables.
(iii) Is there more than one optimal solution?
v What is the marginal value of anm additional hour' of production time? Owver what range of
production time is this marginal valuoe valid? -
(v) Suppose 80 additional hours of test time can be obtained from outside for Rs. 40 per hour. Should
the management obtain the additional test time? What will be the Increase in profit? - ‘
(i) Tf the management wants to hike the price of the model X1 so that the marginal profit increases
from Rs. 40Q to Rs. 450, What would be the change in the production plan? .
(vif) Suppose the management is considering the inoduction of another product using the sams

resources. The new p_rodnct requires 8 production hours, 3 testing hours, 5 units of raw matcrial 1 and 16 units
of raw material 2 and will yield a comtribution of Rs. 400/- per uni{. Should the new product be introduced?

Q. 6 {(2) A new television series is to be shown. A broadcasting cxecutive feels that his uncertainty about the
ratings which the show will receive in its first month can be represented by normal distribution with a mean of
18.2 and a standard deviation of 1.6.

i} What is the probability that the television rating will be more 187 ii) What percentage of Lhe times (he rafing
will be at the most 19.87 1ii)What is the chance of getting the rating between 18 and 207 iv) According to this
executive, the probability is 0.01 that the rating will be less than what number?

Q. 6 () A duplicating machine maintained for office use is used and operated by people in the office who need
to make copies mostly secretaries. Since the wark to be copied varies in length of pages of the onginal and
copies required. The service rate is exponentially distributed with a mean of 10 jobs per hour and the
requitement over the entire day of eight hours is poisson with a mean arrival rate of 5 per hour. Several people
have noted that a waiting line develops occasionally and have questioned the policy of maintaining only one -
unit. If the time of the secretary is valued at Rs. 350 per hour, make the analysis to find

1) équipxhent utilization ii) the percent of time the arrival has to wait
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Q.WMGW—VMTGMmmpanymm&mmmodcls&BandehichhayepmﬁmQDO,ZiOO
aud 500 per picce , respectively . According to the production Jicense the maximums weekly production
mﬁmmﬁgmlﬂfornmdclA,ISforBands ﬁn‘C.Theﬁmerﬂqniredfwmmmmngthmesetsisdiﬁded

Modal A Model B Modet C Total time available

b i
Mamfactoring 3 4 ] 150
Assembling 4 5 5 200
Packing 1 1 2 50

FormulatcﬂumduﬁﬁgnsdmﬂukasLPP to maimive total profit.

Q.lmmmmqmmoqumy)mmmmzc cost associated with the palicy of
mﬂamgquanmiesofmatsizqmlevei,usmgﬂnfounwingdm; _ '
Anmual Degnand

= Rs.50000
Oxdering Comt = Rs5.200 per order
Iaventory Canying Cost= 209 of average invertory value -
Unit cost = Rs,







Alermatives

Demand scenarnio Complex Medivm Simple
High 85 60 20
Averags 23 30 15
Low -30 0 10
Very low 44 =12 6

UsingmhafmeLancc,mmdmxandMaximincﬁtuﬁa.whmmmﬂdmeccmpanydecidc?hanhowﬂdhethe
decisionusingtthuMmzmitcﬂouwﬁhanopﬁnﬁsmindcxofG.ﬁ?
7

Q}(Acaupmyhasfwrsaicmnmbcassigmdmfwrdﬂemw#m;ia.'Ihcnmmh}ymsss,esﬁzm:!fw
eNch salesman in  diffcrert  territories (n laokh Rupees ) , are shown in the table below:

Sales territories
31 82 83 S84 S5
Salesman’s
A 75 80 85 70 50
B o1 1 82 73 85
c 78 90 85 20 )
D . 65 75 58 85 20

Suggest Optimal assignment for the saiesman . Which saies territory will remain umassigned? What wil be the
meaxinnmm sales increase per momth?
Gé;’%%&mmhsﬁﬁm—hmﬁ&rmsmﬂﬁmm!ﬁngmﬂk.Tr?mpmtaﬁanmst(Rs.Pcr@imai
)ﬁzrshippingstec!Eomﬁx:nacmtomﬁhlgmﬂ]sareshowninthcfouowmgmblc:

M1 M2 M3 M4 MS Supply

1 4 2 3 2 6 8
F2 5 1 12
F3 6 5 4 7 7 14
Demand 4 4 6 I

Obtain the optinmmm teamsportation schedule to minimise the transportation cost .

Qs A compaty mamfactures and sells three models of Jarge sized prossure cookers for canteen use. While

m‘ketdmndquscnoconstraints,su?pﬁmocfahzminumlinﬁwdtoﬁﬂkgspawwkmdavﬂﬂabﬂhyofmadﬂnc

time limited to 600 hours per week restrict the product-mix. The resource usage of the three models and their

profitability are given below:
-

£

Model

M, M, M
Ahmnininm/fanit 6 3 ]
Machine-timefinit 3 4 5




Contribution Refurdt 66 20 30
a) 'FmﬂaictbeproblemasanIIPandmmepromsofgetungop&na!solmn,umngthemmplmmﬁhod

following table is obained.
C 50 | 20 800 o T
Basis [Cb [ X1 (X2 X3[s1 (52 (b
X1 |60 i [-18 [0 |13 |-L3 30
X3 J8c [¢ |1 1 U5 1% [%
Zj-Tj ¢ 140" o 14 12 | 10200

1)) Using the information in optimal solution tableau, determine whether and how the current solution would
be sensitive to the follcwing changes. Treat cach of the conditions given below independently.
El ke

1) An additional 150kgofalmmumwaﬂdbccomcavmlah]n
i} The machine hours available would reduce from current level of €00 bhours to 450 hours.
i) Fallowing & reduction ix selling price of M3, its contribution margin decreases by Rs 15
iv) ‘What minimmn contribution requiring 3 kg of 2humimm and 3 bours of machine time per unit, with
an estimated unjt contribution of Rs.40. Would it be worthwhile manufachoning this new model.
Q. GMGWAofmamwmathaveammthsnboa:d,whﬂam%ofﬂlmh.vezbmkcron&n

toard and 15% heve an academician. 20% have both a lawyer and 2 banker, 5% have 2 baunker and an
academicizn, and 10% have 2 lawyer and an acadsmician. 4% have ail tiree.
‘What is the probability that a company in the industry has at least one of the above categories of professionals
on its board?
Wht is the probability that 8 company bas none of these categotics of professionals on its beard?
Q. 6 @f Bocauss of recycling campaigns, a mumber of cuipty soda bottles are being returned for refilling. bt is found
tiat 109 of the bottles 80 retizmed are chipped and have to be discarded. In the next crzte of 15 bottes,
()  What is the probability that nons will be chipped?
(i}  What is the probability St 4 or more will be chipped? |- £3
(i) How many chipped botles would you expect? 162

Q.7 (2) A compeny mamrfactures two kinds of machines, each requiring & differemt manwfacturing techniqus. The
deluxe machine requires 18 hours of Iabour, 9 bours of testing, and yields a profit of Rs.400. The standard machine
requires 3 hours of labour, 4 hours of testing, and yields a profit of Re.200. There are 800 hours of lebour and 600
hours of testing available cach month. A marketing forecest has shown the monthiy demand for the standard
machine to be no more than 150, Thcmnagmmtwantstoknowrbcmbersofwchmodcltoproduccmomhly
that will meommsze total profit. Formolate and solve this as a linear progrannring problem.

Q.7 (b) A dairy finm wants to determine the quantity of butter it should produce to meet the demand. Past records
bave shown the following demand pattern.

Quemntity required (kg) 15 20 25 30 35 40 50
No.of days demand occured: 6 4 20 B0 40 30 Hit]

The siock levels are restricted to the range 15 to 50 kg due to inadequate storing facilitics. Butter costs
Rs.40 per kg and sold at Rs.50 per kg

i Comstonet 8 conditional profit table
if) Determine the action alternative assoviated with the maximization of expected profit
H#i) Determine EVPE,



Q8 Ja)/im-val rate of telephone calls at 2 telephone bocth is accorting o Poissen distribution with an averagc
time of 9 minutes between two comsecutive arrivals. The length of telephote c2ll is assumed to be expentially
distributed with mean 3 primites

a) Ddernﬁnethcpmbabiﬁtythaiapctmarﬁvingauhcbom‘hwﬂlhawmwat

b) Find the average queue length that is formed from time to time. '

q Telcphonccompanywiﬂinsta]]asecmdbocthwhmconvhwdﬂ:a:anarriwlwmﬂdcxpmto
have 10 wzit at least 4 minmtes for the phone. Find the increase in flow of asivals which will
Jjustify a second booth,

) Whaxhthcmobabﬂityﬁmianammwiﬂhawwwaﬁformomdnnmmimmbefomthc
phone is free? -

¢} Wkat is the probability that he will have to wait for more than 10 minutes before the phone is
available and the call is also complete? :

) Fmnd the fraction of the day that the phone will be in use.

ijﬂiﬁiand!y'sbcparmmtSmhasbmmetargdofmany shoplifiers during the past month, but owing to
increased secarity precautions, 250 shoplifiers have been caugit. Each shoplifier’s sex is noted; also noted js
whahcrthsperpetratormaﬁrst-iﬁneormpeato&‘:ndm'_ The data are summarized in the table.

Sex - First-Time Offander Renost Ofendar
Male §0 70
Female 44 . 76

104 . 145

Assuming that an apprehended shoplifter is chosen at random, find

2) The probability that the shoplifter is male.

) The probability that the shoplifier is 2 first-time offender, given that the shoplifier is male.
c) The probability that the shoplifter is female, given that the shoplifter is a repeat offender.

d)  The probability that the shoplifter is female, given that the shoplifter is a first-time offerder.
¢} The probability that the shoplifier is both male and repeat offender.

Q.8 A firm has a single channel service station wish fellowing empirica! data availabls to s inEnagemeny/
i) The mean arrival time 3 6.2 mimmes

o) Thke mean service time is 5.5 minutes
1) The arival and service time probability distdibution are as follows:

Artivals | Probapility | Service tirse Probability
_{minute)

34 0.05 34 . 0.10
4-5 020 4-5 0.20
5-6 : G35 5-6 0.40
6-7 025 &7 020

. T8 0.10 7-8 .10
-9 0.05 , -9 000

The quening process begins at 10.00 am and proceeds for nearty 2 hours. An anival goes to the service facility
mmmediately if it is empty otherwise it will wait in 2 queue. The queue discipline is —First Come-first served’
Ifﬂmaxtcndam’swagmamRs.Spcrhﬂﬁ:andmmomer‘swaiﬁngﬁmecostsRsSperhour,wmldi:bean
economical proposition to engage second attendant? Answer on the basis of Monte-Carlo simulation technique.
{vou muy use the following figures based om the simnlated peried of 2 howrs). '

Random no. for arrivals: 44,84,82,50,83,40,95,88, 16,16,97,92,39,33,83 42,16,07,77,66
Random £o.for service : 50,95,58,44,77,1 1,08,38,87,45,09,99,81,97,30,36,75,72,79,83.

e
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ANSWER ANY THREE QUESTIONS
Ql.ExplainthﬁsthSthathinﬂicplamﬁngpmceSS(ZOnmrks)

3 How is ‘Motivation” a basic - strument of getting work dose, Explain i detail any
two motivation theories (20 marks)

\94./Exp1ain any three types of departmentation followed by companies (20 marks)
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_ (;J (a) A company solicits bids on each of four projects from five contractors. Only one
~ project may be assigned to any contractor. The bids received ( in thousand rupees ) are given in the
accompanying table . Contractor

Projects -
T 18 25 22 26 25
oI 26 29 26 27 24
“* m 28 31 30 40 31
IV 2 28 27 26 29

Determine the optimal assignment of the projects to various contractors to minimise the total
achievable cost .

Q. 1 (b) The probability of that a contractor will a plumbing contract is 2/3 and the probability
that he will not get an electric contract is 5/9 . If the probability of getting at least one contract is 4/5 |
what is the probability that the he will get both 7

Q,Z./ A Company is spending Rs. 1200 on transportation of its units from three plants to four
distribution centers. The Supply and demand of units with unit cost of transportation are given as
under : Distribution Centers

DI D2 D3 D4 Supply o
Plants '
P1 20 30 50 17 7
P2 70 32 40 60 10
P340 12 60 25 18

Demand - 35 8 7 15

What can be maximum saving by optimal scheduling of the transportation to minimise total cost ?

———

Q.3 (a) The overall percentage of failures in a certain exam is 40. What is the probability that out of
group of 7 candidates ( 1) at least 3 passed the examination, and (2} at most 3 passed the

examination? +

']
Cx'P
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Q. 3 (b} A publishing house purchases 2000 units of a particular item per year at a unit cost of Rs. 20.
The ordering cost is Rs. 50 per order and the inventory carrying cost is 25 percent of the'inventory
value. Find the optimal order quantity and minimum total cost inciuding purchase cost . If a 3 9%
discount is offered by the supplier for purchase in lots of 1000 or more , should the publisher house
accept the proposal?

Q.4 At a telephone booth, customers arrive with an average time of 1.2 time units between two
arrivals. Service times are assumed to be 2.8 time units. Simulate the system for 12 time units by
assuming that the system starts at £ = 0. What is the average waiting time per customer?  gjpwlotoem

\9,5 (a)Solve the following Linear Programming Problem by graphical method

Maximise z = X1 — 3%
subject to x; +x2 < 300
X — 2%2 < 200
x|+ X2 = 100
X2 < 200
X1, X3z > 0

Q.5 (b)Textbook authors and publishers work very hard to minimize the number of errors in a text.
However, some 2Irors are unavoidable. Mr. J.A. Carmen, statistics editor, reports that the mean
number of errors per chapter is 0.8. What is the probability that there are less than 2 errors in a
particular chapter? — Zguseo 08! o 926

Q.6 (a)A farmer has a two acre farm. He can sell all the tomatoes, drumstick or radishes he can raise.
The price he can obtain is Re.1.00 per kg. for tomatoes, Re.0.75 for a head of drumstick and Rs.2.00
per kg. for radishes. The average yield per acre is 2,000 kg. of tomatoes, 3,000 heads of drumsticks,
and, 1,000 kg. of radishes. Fertilizer is available at Rs.0.50 per kg. and the amount required per acre 1s
100 kg. each for tomatoes and drumstick, and 50 kg. for radishes. Labour required for sowing,
cultivating and harvesting per acre is 5 man-days for tomatoes and radishes and 6 man-days for
drumstick. A total of 400 man-days of labour are available at Rs.20.00 per man-day. Formulate this
problem as a linear programming model to maximise the farmer’s total profit.

Q.6 (b)A manufacturer makes 2 product, of which the principal ingredient is a chemical X. At the
moment, the manufacturer spends Rs.1000 per year on the supply of X but there is a possibility that the
price may soon increase to four times its present figure because of a worldwide shortage of the
chemical. There is another chemical ¥, which the manufacturer could use in conjunction with a third
chemical Z, in order to give the same effect as chemical X. Chemicals ¥ and Z would together cost
the manufacturer Rs.3000 per year; but their prices are unlikely to rise. What action should the
manufacturer take? Apply the maximin and minimax regret criteria for decision making and give two
sets of solutions. S G cardoindoyg

Q. 7 (a) Company records show that the weekly distance traveled by their salesmen is normal with
mean 800 miles and standard deviation 90 miles. The Sales Manager considers that salesmen who
sravel less than 600 miles in one week are performing poorly.

(1) If the Company employs 200 salesmen, how many would be expected to perform poorly in a
particular week?



— (i) ~ What percentage of salesmen cover between 700 to 950 miles per week? ™~

(iii)  The Sales Manager wishes to identify the number of miles traveled in one week above which
10% of the salesmen are expected to travel. What weekly mileage is this?

). 7 (b) Ace Travel Agents has one reservaiion clerk on duty at a time. He handles information about
flight schedules and makes reservations. All calls to Ace are answered by an operator. If the caller
requests information or reservations, the operator transfers the call to the reservation clerk. If the clerk
is busy, the operator asks the caller to wait. When the clerk becomes free, the operator transfcss the
call of the person waiting the longest to him. Arrival of calls follows a Poisson process and the service
time of the reservations clerk is exponentially distributed. Calls arrive at the rate of 10 per hour, and
the reservations clerk can service a call in 4 minutes on an average.

a) What is the average number of calls waiting to be connected to the reservations clerk?

b) What is the average time a caller must wait before reaching the reservations clerk?

c) What is the average time for a caller to complete his transaction (ie. From the time the call
comes in till he completes his transaction with the clerk)?

d) What will happen if the average number of calls arriving increases to

{1) 15 per hour‘? (i1) 17 per hour?

Q.8 (a) A florist orders and receives batches of a dozen roses early in the morning each day. He sells
them in dozens only and does not sell them in individual units. The cost per dozen is Rs. 50 and he
sells a dozen for Rs. 90. Any unsold roses at the end of the day have to be thrown. Also he estimates
that if he has to turn away a customer because of insufficient stock, the customer would go to his

# competitor once more (for his next requirement) on an average. customer to his competitor for another

week resulting'in a loss of Rs. 40 per dozen. Based on the last year s statistics, the florist estimates the
daily demand for roses in dozens as follows:

Demand Probability of demand

15 0.40

i6 0.30

17 0.20

18 : 0.10

(1) How many dozens of roses should the florist stock each day so as to maximaise his profits in
the fong mn?

(i1) What is EVPI?

{b) You are considering the purchase of stock in XYZ corporation. You feel that if the sensex

ses next year, there is 85% chance that the XYZ stock will go up. On the other hand, if the sensex
does not rise, the chances that XYZ stock goes up is estimated as 10%. Market analysts feel that there
is a 70% probability that the sensex will rise next year and 30% probability that it will not. If at the
end of the year, you find that XYZ stock has gone up, what is the probability that the sensex had not

dsen? PSR

Q. 9. A manufacturing company sells 3 products, each of which requires three process operations-
machining, assembly and packaging. Data conceming the availability of time at its three operational
departments is given below:

Department Profit per unit
Product Machining  Assembly Packaging Rs.
A 1 3 2 4

Fes™




B 3. .4 [ - 8 -

C 2 2 2 6
Hours available 160 120 80
While formulating and solving this as 2 linear programming problem. the following Siraplex table was
obtained:

G Basis RHS X1 X2 X3 S S, S3
120 82 16073 -5/3 0 0 1 1 -2/3
0 X2 40/3 173 i 0 0 0 -1/3

150 X3 380/9 59 0 1 176 0 380/9
(i) Is the solution optimal? If not work out the optimal solution.
(i) Interpret the optimal solution. Comment on the meaning of the slack variables.
{1ty Is there more than one optimal solution?
{(iv) What is the marginal value of an additional hour of machining? An additional hour of
assemb!y? An additional hour of packaging?
(v} Suppose production time can be increased in amy of the 3 departments by hiring contract
workers. In which department(s) should the management deploy contract staff?
(vi) Suppose 20 additional packaging hours can be obtained by re- adjusting departmental

timings at an additional cost of 50 p. per hour. Should the management obtain the additional packaging
hours? What will be the increase in profit?

{vii) If there is a reduction in the market price of X3 so that the profit has fallen to Rs. 5, what
would be the change in the optimal production plan?
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}/l. a) A dispatcher of the police department has received four request for police assistance

Currently | six patrol —cars are available for assigniment and the cstimated time ( in minutes J are
shown in the table that follows:

Patro} unit T
I 2 3 4 5 6

, fneident oo T
i\ I 6 5 3 4, 5 6
: II 8 6 2 3 7 6
{1 4 4 7 6 5 S
v 3 7 9 8 4 7

{1) Which patrol should respond ?
(2) What will be the aVerage response time?

(&) A candidate is selected for interview for 3 posts . For the first post there are 3 candidaies , for
the secord there are 4 and for the third there are 2, What is the probability of his getung at least one
post?

Q.2 / A Company has three Sources nf manufacturing the same commodity, which are required 1o be
\t;aﬂsporzed t0 meet the demands in four destinations The supplies and demands and also the cost of
Tansportation from source to destination in: rupees per unit are given in the following table :

Destinations
1 2 3 4 Supply
Source T e , -ﬂ__--m----t.}__-
1 157 18% 2277 47 30
. -4
2 415 190 205 14 4 -0
30137 16 237 17 392
Demand 20 20 25 35 100 ua e
(s 1t 27 % 1” e
{13 ‘Find the optimum solution
(2) Is the optimum solution unique 7
{3) If no find aiternate optimum solution. -

Q.3 (a) Indian Alrlines. (Indian) operates five flights daily from Mumbai to.Bangalore. Suppos§ fhe
probability that any flight arrives late at Bangalore is 0.20, What is probability that none of the flights



are late today ? What is the probability that exactly one of the flights is late today? Explain wha
probability distribution you used and why?

Q.3 (b) Using the following data, obtain the EGQ (Economic Order Quantity) and the total variahle
cost associated with the policy of ordering quantities of that size,

Annual Demand = Rs.20000
Ordering Cost = Rs.150 per order
Inventory Carrying Cost = 24% of average inventory value

With the help of Quantity — cost curve, explain the significance of EOQ.

Q4. Discuss Monte Carlo Simulation. Illustrate how you would use it in one of the following twe
situations.

1 Queuing or (11) Inventary Contro)

OR
Q. 4Palm Village Clinic employs one secretary, who handles all the appointments for several doctors
irr'the clinic. Incoming alls are answered by switch- board operator. If caller wants a doctor
appointment, the call is transferred to the secretary. If the secretary’s line is busy, the operator asks the
caller to wait. When the secretaries line become free, the operator transfers waiting calls on first called
first served basis. The calls for appointments come in at a rate of 10 per hour, according to the
following probability distribution.

Time between two i
consecutive calls 4 5 6 7 8 - {
Probability 0.1 0.15 0350 0.15 0.10
The time in minutes it takes for the secretary to arrange 2 appointment varjes according to the .
following probability distribution @ S e ot ealile Auoren
. T -+ 0b . ; '
Length of time to - q::.&:t,, ! / ?,
make an appointment 3 4 5 6 B S /0 "0
Probability 01 09 8 1 T I @
- Wél-;(' 2500 2000

Use simulation to predict the arrivals of 10 calls and their service titnes to determine the following

1) The probability that a person calling for an appointment will have to wait before reaching

secretary :

ii) The average length of time a caller must be on the phone to receive an appoiniment.

iif)  The average number of callers waiting to have their calls transferred to the secretary.
You may use the below sets of random numbers. Masiinax 9 - 2o

10 76 87 20 42 98 40 68 85 84
98 37 55 21 56 17 37 29 34 565'[ ~ q‘i 12
155 ;!Oq L5

Q. ) An insurance company states that 10% of all fire insurance claims are fraudulent. Suppose the
comypany is correct, and that it receives 125 claims. ‘ K<L
=0

a. What's the probability that at least 15 claims are fraudulen1?
- b. What's the probability that less than 10 claims are fraudulent?

-

' _Q\S/(bj O'Connel‘Airlines Is considering air service from its hub of operations in Cicely, Alaska, to
Rome, Wisconsin, and Seattle, Washington. O'Ceonnel has one gate at the Cicely Airport, which
operates 12 hours per day. Each flight requires | hour of gate time. Each flight to Rome
consumes 15 hours of pilot crew time and is expected o produce a profit of $2500.Serving
Seattle uses 10 hours of pilot crew time per flight and will result in a profit of $2000 per flight.



P‘iiot crew labour is limited to 150 hours per day. The market for service to Rome is limited 1¢
nine flights per day.

Use the graphic method of linear programming to maximize profits for O'Connel Airlines.

Q.6 Ei)/fhe Flair Furniture company produces inexpensive tables and chaire. The production procesg
for gach is similar in that both require a certain number of carpentry work and certain munber of
labour work in the painting and varnishing department. Each table takes four hours of carpentry and
two hours in the painting and varnishing department, Each chair requires three hours of carpentry znd
one hour in painting and varnishing department. Using the curent production pericd, 240 hours of
carpentry and 100 hours of painting and varnishing is available. Each table is sold vields a profit of §7:
each chair produced is sold for a $5 profit. Formulate it 2s LPP. Do not sofve

Q. € (BA) A retail store desires to determine the optimal daily order size for 2 perishable item. The

storg buysithe perishable item at the rate of Rs.60/kg and sells at the rate of Rs.90/kg. If the order size
is more than the demand, the excess quantity carn be sold at Rs.75/kg in a secondary market; otherwise
the opportunity cost for the store is Rs. 10/kg for the unsatisfied portion of the demand. Based on tre
past experience, it is found that the demand varies from 50 kg t0 200 kg in step of 50 kg. The possiti=
values of the crder size are from 100kg to 300kg in step of 100kg. Determine the optimal size, whick
will meximizel the daily profit of the store using maximid criteria and €quiprobabble criteria.

Q. 7 (a) The city public heaith department closes down a certain beach when the concentration of E

.colt bacteria present in raw sewage becomes too high. Assume that on a particular day e

contamination level index is normallv distributed with a mean of 160 and standard deviation of 20 Zor

each liter of water. Determine the probability that for any random liter the contamination level index
lie between 150°and 170 exceed 140 fall beiow 162.

Q. 7 (b) Patrons arrive at a small post office at the rate of 30 per hour. Service by one clerk on durv
takes on an average of 1 minute per customer.

Calculate the mean customer time; also find mean number of customers.

If the waiting time in the system is more than 20 minutes an additional clerk can be hired. [z it
necessary to hire an additional clerk?

Q. 8 (a) A news dealer must decide how many copies of a particular magazine to stock in December.
He will not stock less than the lowest possibie demand and not more than the highest. Each magazize
costs him $0.50 and sells for $1.00. At the end of the month, unsold magazines are thrown away. Four
levels of demand are 11,12,13,14 in the proportion of (0%, 20%, 45%, 25% .

Using December profits as news dealers pays off, construct his pay off table.

How many copies should be stocked?

How much should he pay for the perfect information.

Q. 8 (t) A life insurance company gives an aptitude test to new sales personnel in order to predict the -
success at selling. Like most aptitude tests, this one is impserfect. Some high scorers will be posT
performers, lacking the necessary motivation. A few low $corers will tum out to be excellent saizs
representatives. Sacrificing justice of efficiency, the company has established a score of 80 as e
minimum for hiring. This score was obtained afier a yaer of testing new hires, who were divided in -2
tWwo categories.- satisfactory, and unsatisfactory. The results of the tests are summarized as follows

performance propostion of people who scored

below 80 80 or above _
safisfactory 0.1 0.4 -
unsatisfactory 03 .2

Since the people tested represents a typical cross section of applicants, are acceptable for futurs

candidates
&/

What is the probability that the candidate



3
will be satisfactory? N
~will be unsatisfactory given that he was hired after scoring 80 or aboy=
i would have been satisfactory given that was hired after scority belsw 307

- @9  Forthe linear programming problem
\—/gaximize 7= 60X+ 10X 42X, Profit function
Subject to constraints
2X1+4X‘1_+3X3 <40
X;‘*‘Xg <10
2X+Xy <12
Xi’s are non negative.
The table below is obtained while maximizing the objective function

resource |
resource 2
resource 3

18

6 10 2 0 0 ) | b ;
C _ |
Basis Cb X4 X X3 S, S 1S3 i
S 0 * * 2 * -2 -1 g
Xi 6 * * -1/2 * ] -1/2 4
X2 10 * * 1/2 * 0 1/2 6

Zi-Cj G * * 0 * 6 2 =384

1) Replace stars by appropriate numbers. Write the solution.
i) Is the solution optimal? if yes Why? if no why not?
11} is the solution unique? Justify.
iv) What is the status of utilization of three resources?
v) If the availability of resource 1 is made 50 will it affect the teasibility of the solution?
Vi) Which product is not manufactured? If it has to be manufactured, what change do 10U

suggest in the profit contribution of that product?

vii)

The profit contribution of product 2 is reduced by 2, will it affect the optimality of the

current solution,

viii)

A new product s introduced that consumes 2 units of resource 2 and 2 units of resource 3.

It is estimated that this new product will fetch profit of 5 units per unit. ls it advisable to go for this

new product?
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Section I : Case Study e 20 Marks

Rohan had been promoted as supervisor in a plant méhufécturing high end sportswear. Before

his elevation to management rank, he had been a loom fixer for five years. His work as loom
fixer had consistently been of supervisory calibre. ' '

_Except for aliitle good-natured kidding, Rohan’s co-workers Had wished hira well on his new

job. And for first week or two, most of them had been og_;gp;c_r_a,xjy_e — even helpful — while
Rohan was adjusting to his supervisory role.

Lately, Friday afternocn of Rohan’s second week as a supervisor, a disturbing incident took
piece. Having just made the rounds of hi§ department, Rohan stopped in the men’s
washroom. There he saw two of his old buddies — Asim and Neeraj washing up. “Say
fellows. You shouldn’t be cleaning up ﬁ{i_s coon. It's at least another 15 minutes until quitting
time.” Said Rohan ~“Get back on the floor and I’li forget I saw you in here™.

“Come off it, Rohan” said Asim. “You used to slip here early. yourself on Fridays. Just

because you’ve got a little rank now, don’t think you can act tough with us™ To this rohan

replied, “Things are W Both of you get back on the job or I’1l make trouble”.
Asim and Neeraj said nothing more and they both returned to the shop.

From that time on Rohan began to have trouble as supervisor. Asim and Neeraj gave him the
silent treatment. The loom cperators seemed to forget how to do the simplest things. Every
few minutes there was a machine shutdown. By the end of the month, Rohan’s department

was showing the poorest record for production.

1. How do you think Rohan should have handled the washroom incident?
2. Group membel resources, personality characteristics, formal leadership roles,
status congruence, among several other factors — influence group behaviour and

satisfaction. In the above case bring out the significance of each of the stated
variables on the poorest production recard of Rohan’s department.

D

EGo




o 3, Define Perception. What is attribution theory? What is jts application in OB?
0y

Section II (Attempt any Fcﬁr) ‘ 40 Marks

/"{ ;. Define Organisational Behaviour. What are the main objectives of OB? Elaborate
‘ with examples.

Define personality. Critically examine the Freudian stages of peréonality
development.

, ; ¢ own ol itenel
. . . S . o E o - feg e RIS
/!./ Describe how various principles of learning might be used in a training programme.

5. What is s Job Satlsfaf‘tlon’? Whal is its relationship with productivity, turnover and
accidents?

6. What are values? How do they differ from attitudes? Why are values

- oL ‘ important to the study of 087
O
I A /’7/ Brief descriptions of following theories. (Any Two)
ool MMaslow

P2 (b) Megregor

N ke Meclelland - pacdo -

(d) Herzberg
\:M\.A\
Pl
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Note Answer ANY Five Out of 7 questions. Al questions'carry equal marks.

1 Discuss in detail the importance of organizational behavior as part of
management studies and application in corporate world.

)aé Explain Maslow’s Need Hierarchy theory and importance of motivation in
overcoming obstacles ‘

/Q/ 3 Discuss in detail the concept of leadership, - the difference between Leader
and manager and give two examples of industry ‘leader of India who have made
huge difference to the business world.

Q. 4 What is personality? Discuss A and B type personality. How would you
describe personality of Ratan Tata and Vijay Maliya.

Q.5 Discuss different stages of change management. Give one example of any
india Industry that has successfully gone through this process.

Q. F'What is stress? Discuss the causes and effecton an individual.

Q. 7 What is group dynamics? Discuss in details the process and how it affects the
working of an organization? '




University of Mumbai
Jamnalal Bajaj Instituie of Management Studies
First Year First Semester 2011-2012, 18/11/2011.

MMM/MFM/MHRDM/MIM

- Principles of Management

Total Marks - 100

N.B: 1) Atten;lpt any Five Questions 2) All duestion‘s carry equal marks

1. Management is an art of getting work done through people.” Explain various functions of
Management in light of this statement.

What are the key characteristics of charismatic leaders? Discuss each of these key
characteristics in detail and illustrate your answer with examples

@Vhat are the steps in controlling process and state the essentlals of effective control

4. Organizing means “grouping of activities and assigning them to team members”. Discuss
the steps, involved in.organizing. Why organizing is important?

@Enumerate Fayol’s prmclples of Management. How are they different from Taylor’s
prmmples‘? Comment on them in brief.

a Write notes on:- ( Any 2)

arriers of Comrnunication '
{(b) Leadership styles using Managerial grid.

rite a note on the assumptions of Mc Gregor’s Theory Y.
(d) Stress Management

7. Describe the cross- cultural challenges of motivation & the chalienges managers face in
motivating umque groups of workers

@What is MBO and list the advantages of MBO

9. Explain the steps in Decision Making process. What are the safeguards to be kept i in mind
during decision making?



JAMNALAL BAJAJ INSTITUTE OF MANAGEMENT STUDIES
UNIVERSITY GF MUMBA!

Duration 3 hrs MPM | SEM ]

ORGANISATION BEHAVIOUR — | - MARKS — 100

-+

T
H
o
1
1
4

Note:
1.  Please answer the questions to the point.
2. Answer in poin’é form is accepted as lpng as it is accurate.
3. Use Graph/Fiowcha'nt/Diagram to elaborate your answer,
Answer ANY }ﬂuesﬁons from Part A and ANY ‘.}_.bquestion from Part B. All questions carry equal marks
part A— Attemptany 4

1] Explain the terrﬁs Personality, Values and Attitude. Discuss the role of Values in Indian Corporates and
with relevant examples. '

\/.21/Explain the Managerial Grid theory of Leadership propounded by Blake and Mouton. Use practical
examples from your worklife to illustrate your answer.

\/Bf]/Deﬁne what is motivation and discuss any 3 theories of motivation.

efine Conflict and strategies to resolve them and possible outcomes of the same. Explain the
concept of Johari window. '

/STIExplain t"he difference between a Manager and a Leader. What are the various dynamics of a group
formation. Explain the process of communication.

Part B~ Attemptany 1
6] Explainthe concepts discussed in the Book — Execution.

7] Explain your understanding on Managing change from the'book — “Our lceberg is Melting”

8] Explain the concepts underliffed in the book “ Goal”




University of Mumbai

Jamnalal Bajaj Institute of Managemicil Studices

First Year First Semester 2010-2011

MMM- Principles of Management

Total Marks - 100

N.B: 1) Attempt any Five Questions 2 ) All questions carry equal marks

,\)Ahe Manager’s Job Universal? Importance of Mansgerial Roles in Small and Large Businesses
V{ Eiucidate the importance of planning and state the various levels and types of planning

3. Describe different decision making styles & discuss how biases affect decision making

v

\_/3.//Explain why structure and design are important to an organization & describe the key
elements of organizational structure

5. Explain the concept of a learning organization and how it infiuences organizational design

6. Describe the cross-cultural chalienges of motivation & the chalienge: managers face in
motivating unique groups of workers

’\/{Deﬁne leaders and leadership. Explain why managers should be leaders.

7 Describe how managers may have to adjust controls for cross-cultural differences. Give
suitable examples '

9. Short Notes: { Any 2)
a. Explain Weber's [deal Bureaucracy
Mintzberg’s Managerial Roles

c. Fayol’s 14 Principles of Management
‘d. Types of Departmentalization S
e. Span of Control

FXXARKIIKHK XN
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SUBJECT : ORGANIZATIONAL BEHAVIOR

Date : 16/11/2007 ( 3 Hours) 100 Marks

Instructions :

Lo

L6
,_ﬁ \_byPersonality ~ ~ 7 ¢ L . s oo L3
. \g}fP&ceptual Process™ ~ s .

e 'aj’Explam the Path-Goal Theory or Managerial Grid Theory of Leadership. s
b) What are the various leadershlp styles that you currently find in Indian Orgamzatlons ?

1. Answer any Four questions.
2. All questions carry equal marks.

Case Study. Study the enclosed case and respond 1o all the three questions raised at the end
of the case. Along with other dimensions examine the motivational and change management
aspects.

In today’s context, how does the study of OB help organizations in managing behavioural
issues ? Use any one theory, approach or example. 7, 722 N

Explain any one theory of motivation. Give a few specific examples of how you would apply
this theory in your own organization and your own work place.

¥

\,- "; - f I\\ - \_ r'\

Give examples ?

What are the various types of conflict in an organization ? How can these be managed ?

-

" Write Short Notes (Any Two)

a) Impact of Globalization on OB e

d) OB issues in the emerging service sector
¢) Johari Window . : ‘
f) Managing Change. BT

PTO.
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BEN AND JERRY'S
THRIVES MmN ComMPaNYy

SPirIT

ymwn forits rich ice cream generously
%Ziaced with tasty tidbits and for its
black-and-white cow logo, Ben 8 Jerry‘s
Hememade, Inc., began simply enough as
21 iCe cream parior in 3 rencvated gas
siation. When it tpened in 1978 in
Burlingten, Vermant, it was z so0cial
exoernment. Cofoundsrs Ren Cohen zng
J2ry Greenfield weanred Lo Zemonstrars
ihat rtheir business could Sperate
Sfargntiv from many others. They
fieved that ot courd pa unconventional,
Snares its prosperity with emoloyess,
ract responsibly with the community
tHl do well from a2 business
FEnCooint. In fack, they intendad to salt
e business as soon as it was established
end they had proved their point,

But things didn‘t turn cut guite as they
Blanned. Happily, the ice cream was an
instant success. Benand Jerry onsidered
selling the company, but final'y decided
18l2ad 10 keep it and use the profits for
sacial ¢change. :

il

As the company continued to grow,
Ben and Jerry worked hard ta foster fun,
charity, goodwill toward coworkers, and
the feeling of a_small, close~knit group that
had helped make the company successful
from the start. The company set up
varicus programs to benefit empioyees.
Such pPrograms included hiring the
handicapped; providing for free therapy
sessions with drug and alcoho! counseling
for any warker and taking emplovees on
all company trips to see basehz! and
hockey games. Ben & Jerry’s also hac &
5-tc-1 saiary ratio, whereby the highest
lzries paid couid not equal more than
Ve times the [owest.

Mot surprisingly, dedication ta the
cempany ran high among the workers
Such dedication was important because
the rapid growth of the company and the
Somewhat informal ways of operating
frequentiy led to crises that required
everyone to pitch in. For example, on ons
such occaszion, a new machine to
automatically fill pints did not work and
preduction fell bahind. Everyone -
including Ben and Jerry - worked ths
production tine to fill orders. Some
workers made dinner for the rest of the
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staff and pizzas were ordered. As always,
the group spirit came through. ‘
This spirit that has characterised the

company was nurtured by tne héavy.

involvement of the employees in the firm's -

business affairs. One means was through
monthly staff meetings, which all
emplovyees were invitegd to attend.
Employees would break into small groups
and provide imput on solutions to
problems. ‘

Gradually, as the company grew
bigger, it became more difficult to obtaln
input from everyone and the meetings
became characterised by one-way
communication from Ben and other
mé#nagers. FoJognising the probiem, Ben
attempted td institute the old format by
posing the question : “What ara the most
pressing problems confronting us 27 ThE
appreach generated a huge amount of
data that were difficult to assimilate. One
manager who spent a2 night helping Ben
categorise the responses said, “It was like

"-having this 8-ton dump truck back up and

dump its load over you.” The overall
message to Ben was that the emplovees
were beginning to feel left out.

Growth began to leve! off at the $ 150
milfion range. Consumers were becoming
more concerned about 2ating food high in
gturated fat. In resction, the company
JEVEIODEd 10w-Tal andg nanfat frozan
voCuTt arogucis. Meavv competition from
Grang *etropolitén’s naagen Dazs '

G N T

Brand
end cheaper premium ice cream emerged.
TR company DEdan 10 experience losses.

Ben was forced to conclude that the
cemeeany had ovigrewn his management

skills and he began to search for 2 CEG

who could recharge the organisation. The
company had to abandon the 5-to-1 salary

. the salary arrengement. "After a
publicized search, Ber &

Organizational Behaivigy,

E . U s e meen

ratrec idea because it was difficuit to recryn ~
& new TEC of the Nécessary -Caliber;gjvé;-;_..
Mter 2 higniy,
20 8 Jerey’s hired. 5
new CEO, Robert Holtand; Jr., .a forme,
McKinsey & Co.-constltant. - He began’ by
Jdrnstituting tighter controls. Earnings
improved. The company began to expangd
markets in Europe.and launched a very
successful fat-free sorbet line to compete
-with the HzdgenDazs Jbrand.- After 19
months on the job, Hollsnd resigned
amidst rumors of clashes with the
founders over meshing their social agends
with sharehoider interests. Publiciy,.
Holland said the company needed a CEQ
strony ir. nrarketing and sales. The
company then hire. w25 CEQ
Cdak has 25 years of experience ip
consumer- products and -retailing
businesses. -

Each year, Ben & Jerry's conducts a
Self-critical “social performance” audit that
i3 included in its annual repert. Part of
the audit is based on input from
employees, who now number over 700,
The employee section of one recent annuz|
report noted that focus groups conducted
ameng employees revezled “a continuing
sense of confusion, frustration and low
morale on the part of many staff

members . "2F

oy Dl

Questions

1. What group norms are evident at Ben
& Jerry's 7

2. What factors have contriguted o the
development of hign coresiveness
among Ben & Jerry's employees 7

3. What could Ben and Jerry do tc
preserve some of the positive aspects
of group dynamics ?
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JAMNALAL BAJAJ INSTITUTE OF MANAGEMENT STUDIES
UNIVERSITY OF MUMEBAT
MEFM/MBRODM/MIM/MMB - 1st YEAR SEMESTER - I (2007-2008)
SUBRJECT : PRINCIPLES OF MANAGEMENT

Date : 1711/2067 { 3 Hours) 100 Marks

» Q1 is compulsery : _/Q\

> Give examples
Q I} Answer the questions after reading the following case-study:-

PMTC in the business of metal cutting tools, & metal forming tools is engulfed in competition with
national as well a8 intcrnational players. PMTC’s products are used by capital goods & other

engineering industries. The business is cyelical in nature, dependent on capacity utilization levels in"user

industries. , ‘

GYAN Chand, the MD} of PMTC had been tirged by the distributors in a recent meeting, to introduce
high-tech metal cutting tools and new models using the latest technology. They felt that this would help
thera Fight the dumping of cheap second hand machinery and increase the domestic as well as export
market share. Gyan Chand realized the implications of the distritutors’ suggestions. This would increase
the R & D budget tremendously. A fully automated production line would put pressure on finances. A
greater variety of tools, models etc. would require inventory space. Mechanics need to be trained again,
especially in running robots and gadgets.

Reflecting on previous staff meetings, Gyan Chand realized that marketing people always wanted a
greater variety of models but never appreciated the huge financial burden such z decision would Imply.
PMTC, afier all , carried through its operations all along with just a few models quite successfully. In
such a scenario, Gvan Chand felt that there is no need 0 go in for new models. Instead, he thovight the

focus should be on improving existing medels and reducing the cost and price. The custemer now-a-day

is more interested in getting. value for money. However, to be on safe side he sought the opindon of a

consulting firm, in this regard. _ BB R e NN
QUESTIONS . e PR

a) What kind of opportunities and threats exist in the fum’s external environment? How would you go
about evaluating the strengths and weakness of the firm? What factors aff critical for success o¥ failure?
(10 marks) ‘ ' ' T,

b) What do you think is the mission of the enterprise? (5 marks) -~ R R L

¢} *To be successful, an organization must be an open system’. What does this mean and how does it

apply in this case? (5 marks) c
3 : o ot _‘ v
Answer any 4 from Q 2 to Q 7:- ( All questions carry equal marks) . - D e T
. \Mhat do you understand by M.B.O. Explainsi.' 7' .= o 1Y N r}f Do Bt nat
3) Explain the strategic management process in planning e :L:w-“_f‘j.f o

P

o N4 What do you understand by formal and informal organization? N

5) Explain any four types of organization structure in detail. A : :

(g .

\9/1" o be a successful manager what skills should be possessed by the individual?

7} What are the contributions of Fredrick Taylor to Management? What are the Hawthorne studies
all about?

o ek Ak ok e ekl R R R Rk Rk R Rk
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Jamnalil Bajaj Institute of Management Studies
o Subject: Principles of Management
Course: MMM, MHRDM, MIM, MFM  (SEMESTER- I)
L Tot :
bate: 15110 00

Note »Section 1:Q 8 is Compulsory ~ { Marks 20 )
Answer any 4 of therest ( Marks 15 each)
Secfion 2 is Compulsory ( Marks 20)
Section 1

Q1 a) Define the terms “Organization” and “Structure”. Explain the various types of
Organization structure and differentiate between ‘Formal’ and ‘Informal’ organizations.

\b t are the teachings of Henry Fayol? How does it impact the working of an
enterprise?

Q2 Mﬂg out the importanze of the planning function in a modem enterprise. What are the
s different types of plans used by Corporate Planners?
b) What are the steps invo'ved in Planning?

'Ql;’)%aw true is the statement,”Leadership converts potential into reality”? Explain the different

types of leadership with examples.

b) Who proposed Theory—X and Theory-Y? Which of these theoncs do you believe would
work in the Indian Scenario?

Q4 a) Comment on the statement, “If you try 1o control everythmg you may end up controlnng
nothing”. In the light of this, discuss the essentiais of a good Control System.
b} What are the factors affecting employee motivation? QOutline a system of motivation that
will be effective in Indian conditions.

Q5 Explain the advantages and disadvantages of the various sources of recruitment and which
according to you is the best source and why? :

Qb6 [llustrate with examples how in your organization the Systems Approach to Management is
applied for creating excellence and effectiveness?

Q7 Elaborate a simple Performance Management and Review sjstem as used or applicable to
your organization?

Q8 Write short notes on any three ( Marks 20)
a) Span of Management
The shoveling experiment of F.W. Taylor
¢) Grapevine
d) Managerial Gnd
e) MBO .
_f) Maslows Hierarchy of needs
%Mintzbﬂgé Managerial Roles

5=



Section 2 ( Marks 20)

Analyse the case study and answer the questions given

{,-14

o

|

Howard Schuitz, chief global strategist of Starbucks, says that his greatest challenge to attract and |
manage a worldwide workforce. He believes that Starbucks must provide a motivational system that S/

will cut costs while maintaining high quality. Since going public in 1992, the company’s stock has

risen by more than 800 percent; its retail sales exceeded $2 billion in 2000; and its profits topped
$100 million. Starbucks products can be found in restaurants, hotels, offices, airlines, and in more

\\

that 2,600 stores throughout the world. i

The Starbucks Support Center is located at Starbucks Coffee Company’s headquarters in Seattle.
Thére’s energy here-not induced by a caffeine rush — but from associates ‘being involved in a robust
blend of sense of mission, and challenge. As one of Fortune magazine’s “100 Best Companies to
Work for in America,” not to mention one of the worlds fastest growing purveyors of indulgence,

Starbucks has been giving its employees a daily lift since 1971.

Woven into the company’s mission statément is the’ goal: “Provide a great work environment and

~“Areat each other with respect and dignity.” It takes more than company declarations to motivate and

inspire people. So how does a young, developing company On a0 aggressive growth tracks motivate
more than 27,000 people and inspire balance and a team spirit?

Starbucks recently agreed to launch a line of Fair Trade — Certified beans. Politically correct coffee
is grown on small farm cooperatives rather than large plantation. It sells for § 1.26/ib, which goes
directly to the farmers rather than to middlemen, who often pay growers less than $0.50/1b. The
higher price paid directly to the farmers who -hand-pluck their beans and carry them down the
mountain in 100-ib sacks, means that the farmers can afford to send their children to school.

Second is what Starbucks refers to as “a special blend of employee benefits and a work/life program

.~ that focuses on the physical, mental, emotional, and creative aspects of each person. Starbucks

/ - - -
/ developed an inpovative work/ life program to foster a committed organizational culture -— and a

long-term partnership. [n fact employees at Starbucks are calied partners.

Joan Moffat, the Starbucks manager of -partner relations and work/life, is responsible for the
company’s work/life program. It includes on-site fitness services, referral and educational support
for child care and elder care, an info line for convenient information, and the Partner Connection —
a program that links employees with shared interests and hobbies. Starbucks has corparatively low
health-care costs, low absenteeism, and one of the highest retention rates in the industry. “QOur

. turnover rate is 60 percent, which is excellent as compared tc the restaurant and retail industry,” says

4 “" Moffat. Moreover, employees reap the benefits of the company’s ongoing Success.

-

Starbucks is committed to providing an auﬁosphere that breeds respect and values the contributions
that people make each day, regardless of who or at what level they are in the company. All partners

. who work a minimum 20 hours a week receive full medical and dental coverage, vacation days, and

stock options as part of the Starbucks Bean Stock program. Eligible partners can choose health
coverage from two managed care plans or a catastrophic plan. They also can select between two
dental plans and a vision plan, because of the young, healthy workforce. Starbucks has low health—(
benefit costs. According to Annette King, the HR benefits manager, the company’s health-care costs

’//~ are approximaiely 20 percent lower than the national average.

#
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"I'hfe company also provides disability and Jife. insurance. a discounted stock purchase plan, and a
retirement saving plan with matching contributions. These benefits provide a powerful incentive for

| pal_“cnter, particularly part-timers, to stay with the company, thus reducing Starbucks recruiting and
training costs. “We have historically had low turnover costs. “We have historically had low turnover,

most of which can be attributed to the culture and a sense of community.” says Moffat. //4;”‘“

Three years ago, the HR department began examining how it could become more attuned to
employees. For instance, some employees who started with the company when they were in college’

are now buying homes and dealing with the realities of child care and elder care. Starbucks_——
responded by providing flexible work schedules as part of its work/life program. “Our environment
lends itself to meeting multiple life demands. By virtue of our'strong sales and aceelerated growth,

{lex schedules have not hurt productivity in the least” says Moffat. “Flexibility is particularly
inherent in our stores because of our extended hours of operation and the diversity of our workforce

—— from students to parents ~— who need to work alternative hours.” =

Recent studies have shown that 60 percent of U.S. workers have child-care or elder- care
responsibilities. Starbucks recognized —- as many other companies have — that partners less==
encumbered by personal stress and obligations are more innovative and productive. Starbucks
implemented several programs that specifizally address the life stages and personal needs of its——
workforce. To help deal with the fast-paded and demanding enviromment at Starbucks, it also
provides referral services for partners and eligible dependents enrolled in the medical plan. It
connects them with information that helps make extraordinary life issues more manageable. Moffat.—— -
kerself recently put the program to use when she needed elder-care advice for her grand-mother. In
another case, a partner needed emergency child care for his ill son. Starbuck’s Working Solutions P
prograra made prompt arrangements for a certified in- home caretaker, no work was missed, and ="
Starbucks covered half of the cost.

Questions:

1. What viewpoint of management is practiced at Starbucks? Explain. _

2. What systems concepts are illustrated by Starbucks® employees to fill & customer’s order?
.

3. Do you have any principles that Starbucks can adopt. Explain.
R T T PR R I P TP LR L LS L S
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University of Mumbai
Jamnala} Bajaj Institute Of Management Studies

MMM/MEM/VIERDM MIM First — Year Semester

Sub: Organizational Behavior Marks Qut of: 100
Date: 14™ November 2006 Time: 3.00 pmn t9 6.90 pm

Note: 1) Attempt any 5 (Five) Questions
2) All question carry equal marks

Ql. WHAT OB? DISCUSS ITS INTER RELATIONSHIPS WITH OTHER FUNCTIONS IN THE
ORGANISATION.

Q2. HOW DOES THE PROCESS OF PERCEPTION HELP IN MANAGERIAL EFFECTIVENESS?

;% HOW DOES THE MOTIVATIONAL PROCESSES WORK IN AN ORGANISATION? GIVE
EXAMPLES WITH THE HELP OF AN'Y ONE THEORY OF MOTIVATION »

Q4. “IT IS ESSENTIAL TO GET ALONG WITH PERSONS UNLIKE YOURSELF AT WORK
COMMENT, )

W EXAMPLES OF DIFFERENT LEADERSHIP STYLES (ANY 2) AND IT’S RELEVANCE TO
INDIAN INDUSTRY. '

%SCRIBE IN DETAIL THE CONFLICT RESOLUTION MODEL AND THE CONFLICT
RESOLUTION PROCESS IN INDUSTRY. :

Dﬁﬁ:xmm ANY TWO THEORIES ON PERSONALITY, WHY IS THE STUDY OF
RSONALITY BECOMING CRITICAL IN INDIAN INDUSTRY.

Q8. THE CORPORATE WORLD IS CHANGING AND EVOLVING AT A RAPID PACE. EXPLAIN
THE MAIN CHALLENGES FACING O.B. PRACTITIONERS TODAY.

Q9. ELABORATE ON THE WHATS IN IT FOR ME WLLFM PRINCIPLE WITH REGARDS TO
EMFLOYEE BEHAVIOUR IN ORGANISATIONS,

Q10. a) EXPLAIN THE CONCEPT OF MOMENTE OF TRUTH WITH REGARD TO INTERNAZX.
CUSTOMERS

b) EXPLAIN THE CONCEPT OF BRA INSTORMING AS A TO OL TO ENHANCE
EMPLOYEE MOTIVATION.EXPLAIN THE STEPS IN THE BRAINSTORMING PROCESS.

Q11. SHORT NOTES: (ANY TWQ)
"~ a) JOHAR! WINDOW
by EMOTIONAL INTELLIGENCE
¢) MANAGEMENT OF CEHANGE
d) VALUES AND ETHICS. .

Q12. CASE STUDY,
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CLOSING CASE
HE SAID, SHE Saip

" Ry
Shirléy and Abdy] both work for a software development company. The manager
of the new product division wag originally the leader of 4 project team for which she
wterviewed and hired Abdu) Shirley another project team member, also nterviewed

- Abdul but strongly opposed biring him for the project because she thought he was not

competent to do the job. .~

Seven months after Abdy was hired the manager Jefi the project to start her own
company and recommended that Abdul and Shirley serve as joint project leaders. Shirley
agreed reluctantly — with the stipulation thar it be made clear she was not working for
Abdul.  The general manager consented; Shirley and Abdul were to share the project
leadership.

Withing a month Shirley was angry beceuse Abdul was representing himself o
others as the leader of the entire project and Fving the impression that Shirley was
working for him. Now Shirley and Abdu] are meeting with you to-see if YOUu can help
them resolve the conflict between them ' )

Shirley says/ « ight after the Jjoint leadership arrangement was reached with the
general manager, Abdul called 4 meeting of the project team without even consulting me
about- the time or content. He just told me wheq it was being held and said I should be

there. At the meeting, Abdul reviewed everyone’s duties, line by line, including mine,

- L. - ~ . .
treating me s just another team member working for him. He sends out letters and signs ;

himself as project director, which obviously implies to others that I am working for him »

Abdul says: « Stirley is all hung up with feelings of power and titles. Just because
I sign myself as project director doesn’t mean that she is working for me. I don’t see
anything to get excited about. What difference does it make? She is too sensitive about
everything. I call a meeting and right away she thinks I'm, Uying 1o run everything.
Shirley has other things to do-other project to run- so she doesn’t pay too much attention
to this one. She mostly Iéts things slide. But when | take the initiative to set up a
meeting, ‘she starts jumping up ard down about how I am trying to make her work for
me.”

Questions
I. Abdui and Shirley seem to have several conflicts occurring simultaneously,
Identify as many of these individual conflicts as possible.
2. Given all the benefits of retrospection, what could or should have been done to

avoid this conflict in the first place?-

87
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} JAMNALAL BAJAJ INSTITUTE OF MANAGEMENT STUDIES
' UNIVERSITY OF MUMBAI
MMS — First Year — First Scinester {2006-07)
Subject : Statistics for Management
Date : 12"¥ December, 2006 Time - 3 hours : Tarks : 100

Section | (60 marks)

1. Q1is compulsory |

2. Attempt two questions from Q2 - Q4
3. Figures to the right indicate fult marks
4. Statistical tables provided may be 1sed.
5. Use of calculators is allowrzd.

1(a) The sum of deviations of a certain numbar of observations measured from 4 is 72, and
the sum of the deviations of these observations from 7 is =3. Find the number of observations

and their mean. (5 marks)

(b) The co-efficient of rank correlation of marks obtained by 10 students in Stalistics and
wfccountancy was found to be 0.2. It was later found that the difference in ranks in the two
subjects obtained by one of the students was wrongly taken as @ instead of 7. Find the

correct vaiue of the coefficient. {5 marks)
N4 y‘% -(¢) The arithmetic mean of runs scored by"S batsmen ~ Atut, Bharat & Chetan in the same
woed series of 10 deviations of their runs are 15, 12 and_2 respectively. The standard of the three
A is to be selected, who will be selected? (5 marks) P Py :
ES | | giotar <45 E
- (d) If the first quartile is 142 and the semi interquartile range is 18, Find the r%edian_ Given
‘\ﬁ{:—“ that the distribution is normai. {5 marks)
. [ @/ Z(a) !f the probabillty is 2 thal a car stzier in Mumbal s found. What is the probability that
( ) \l_\"D atleast one out of ZO‘QarS stolen in the city cn a particular day is recovered. {5 marks)’
LN (b) The prebability that a contractor will get a plumbing contract is 2/3, and the probability that
he will not get an electric contract is 5/2. * If the probability of getting atleast one contraci is
4/5, what is the probability that he will get botir the contracis? (10 marks)
E%\ .\/Z(a) Shri Prem Kumar has 2 cars which he hires out.  The average demand for a car on each
-’/';» day follows a Poisson distribution with mean 1.5, Find the number of days on which (i)
neither car is hired (i) Some demand Is refused. (5 marks) - - S v
7%\ . (b) Calculate the coefficient of cortelztion between sales and profits for a sample of 100 firms
o & comment. (10 marks)
N [P = "
Z Profits ) , Sales {in lakh Rs.) | -
. E (‘000 Rs.¥ 7-8 8-9 | 9-10 10-11 11112 | 1213 Total )
S | 80-70 5 3 - ) - - g '
le € [70-90 3 8 N i - 20 ] ot
L8\ X [E0=A10 1 : 7 T2 23 B
e - 110 - 130 - 4 E 15 7B - 30 e
= 430 -150 - - 2 7 4 G 9 a
~ o |9 SETTTTITS T T Ty TTTI T T gg
e
1



4(a) In a normal distribution, 7% ot tha items are under 35 and §9% are under 63, Find the
mean and slandard deviation of the distribulion  (Given that for a slandard normal curve,
area between ordinate at 2 and 1.23 is -39 and area between ordinate at 0 and 1.481is 43) (7

marks)

(b)- A car manufacturing company has 2 plants.  Plant | manufactures 70% of the cars and
Plant Il manufactures 30%.  AtPlant | 80% of the cars are of standard quality and at Flant 1]
90% are of standard quality. A caris selected at random and found to be of standard quality.
What is the chance that it came from Plantl7 (8 marks)’

Kook A Wk b e doe ok e ke

Section !l {50 marks)

b

Note : Question 1 is compulsory and carries 18 marks. Answer any two of the
remaining 3 questions. fach of these questions carries 16 marks. '

P A1a)y A manufacturer of automobile batteries claims that his product will last |, on
average, at least 4 years (48 months). A ¢consumer group wants to evaluate this
lengevity claim and selects a randem sample of 15 such batteries to test. The data
below indicate the lenglh of time (in monlhs) that each of the batteries lasted (ie,
performed properly before failure), o L

1423 398 250 562 372 474 575 383 392 470 474 - f
1.8 316 ' :

SE——

The average life of the Datteries was computed as 43 9 months and the standard
deviation was computed as 9.44 monihe )
o _.K‘ bw(i) is there svidence to suggest that the average battery iife is less than 48
bt months? Test using a significance iavel of 0.05. |
\@) What assurnptions aid you have to make in order to perform the test?
(i) How would you perform the test if the manufacturer gives information, that the
standard deviation of the batteries produced is 9 months, and you have rio
reason to doubt his word? (Do not perform the test)

1b) The branch manager of a nationalized bank in a smali town wants to estimate the

average amount held in savings.accounts by the depositors. He selects a random

P\ ysample of 36 depositors and finds their average balance is Rs. 4750. He also
. mb computes the standard deviatiog of the sample as Rs. 1200.

{ay Set up a 95% 'sqgﬁq/eﬂéé interval for the frue mean balance of ail depositors
at the branch. S
(i) Explain to hint why it is not unusual to find an individual depositor with 3

‘balance of Rs. 3700 in his account, even though this lies outside the
confidence lirnits.

pre]
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| f 2 a) The owner of a large chain of ice cream stores would like to study the effect of the

atmospheric temperature on sales during the summer season. & random sample of

10 days is selected and the foliowing data is collected: o
Daily Maximum temperature Salos per store c)/(v' s H
- °F , 300 Rs. (B 7

62 - 15.2 A NN
70 = - 16.8

73 ' 18.0

75 20.5

80 23.6

82 | 22.5 -

85 26.8

g8 28.0

90 314

91 30.8

(i) Estimate the best fitting regression line of the form Y =a + bX.
0 Predict the average sales per store for a day on which the maximum
temperature is 83° F.
(ii) lnterpret the meaning of the regression coefficient.
(i) What is the standard error of the gstimate?
(iv) Test the significance of the regression coefficient io)
(v) What proportion of the varation in the dependent variable is
expiained by the regression equation? _
{vi) The following output was obtained while predicting the sales in Rs.
000 based on the amounts spent on radio and newspaper
advertising, both in Rs. 000. From the computer output, what can
- you say about the significance of the regression as a whole?
(viiy ~ From the output what can you say about the significance of the
partial regression coefficients?
SUMMARY
QUTPUT
Regression Statistics
Multipie R 0.937308 ;
R Square 0.878547 , ] /f
Adjusted R :
Square 0.851558 \“\\_/
Standard Error 141.5761 '
Observations 12
ANOVA
. Significance
af SS MS F.. F
Regression 55104805 405240.3 32.55142 T7.58289E-05
Residual G 112043.1 12449.24 ' )
Total 11 g922323.7
o Sia_m:’erd ‘ Upper
Coefficien:s  Erar I Stat Povaiue  Lower 95% 95%
Intercept ZERGTTE 1gf 3378 -1.58004  0.144499 544 0266495 110.8003%
Radio ‘
Advertising 5384605 0212009 3.77E0 004407 3.355087527  13.40824
Newspaper
Advertising jp28031  L0arsy TACIDAE SESEo _£2.4742878 4710433
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) Sajltis Gemrcd to emmato the proportian of ma 1RgEMent rainess who chang
first job wilhin the firsl year. This pioportion is to pe estimated within 3 J
) margin of error and a 959, confidence leve! is o bx Used. A past study shoy 5t
4 ; L
U\ﬁ . 30 ,n, of managemaent lrainzes changed tiheir J6bs within ona year. How large di1g
e the sample he for updating the past swdy? -
o) '.\
O
N

3 1) A behavioural scientist is conducting a survey to o te.r" ine if the financial beneﬂt“

in terms of saia ry influences the leve! of satisfaction of employees, or whether there . '
3 A are other faclors such A8 WOrk envirenmant whie Jargmore impertant tharn salamvin N
Q_,\- -7 influencing emplovec salisfaction. A - “ndom sampia of 300 employees are g “_“'{‘1“3"" L
oY T qest o determine their level m Satltfa(, icn. Thealr s 2lary levels are also recol'
PN O he information is tabulated te'eu = i L
. s ’ ' o
Z RO P | Level 777 oF | Annua! ary (Qé“r’éﬁ?}"’“‘“ RE
WA / { C ) Sé TR
2 <o\ |_Satistaction _
. e J T
Lo Hluu. —_: o ’
‘ \-J" Medmm____
’ Low
LTotal .
{i) What test would yeU use tc determine whather the level of employes s
satlsfact'on s influenced by salary ievel?
{iN) At 5% level of significance. carry aut the test and siata & your conclusion.
- (Coempu ISwy\.’Jues”on)
1. To examing the effects of the work envi renmen: on attitude towards work, an
mrﬁm"“r rsychoingist randomly assigns g Qroun of 18 recentiy hired Rineas 3
O0mMs- 6 rainses P& room. L_._-:h R I O T b Tors sXCEOUIor wall conur. One is
i?ght areen, ancther is gnt sivs and the third is o‘zeo red. During one we ek, the
~Lrainees stay mai nty i their rooms, At the end of the wea K, an attitude sca e is used
,& 0 msasure each trairse’s atiiiude towards work {a low score indicates poor
/’ajttltud\, a high score g good attitude}. The foliowin 10 J2ta is obiainad:
A(E\’\ \ -
“2,:5 A . Room colour S i
' Light Grean Light 8ice Desp Read
46 59 34
- 51 54 .29 ,
48 47° 43 i
42 55 40
58 49 45
50 44 34
a) Using a 59 lnual. cfsignificance, is heren evidence wnz: the work er\wror\mcnt(room

colour) has ap ﬂffﬁf‘t on aititude {o work
D) if so, Wmcia ooem colodrs influencs “z" uda o work

AN




UNIVERSITY OF BOMBAY
JAMNALATL BAJAJ INSTITUTE OF MANAGEMENT STUDIES
MHRDM / MMM / MFM - .
Subject: Business Law.
DAY : THURSDAY Time : 3 Hrs DATE : 21 Nov 1996 e 100
N.B.: (i) All questions carry equal marks.
(i) Attempt any six questions.

QL. What are the consequences of incorporation of a company and explain briefly the,
procedure for formation of a company ?
Q2. "An agreement requires meeting of the minds". Comment and discuss when free
. consent is said to have been vitiated.
" Q3.  What is the significance of a Memorandum of Association ? What do you understand
by the doctrine of ultra vires ?
Q4.  Write short notes on any three :
a) Sui Juris
b) Consideration ‘
c) Impossibility of Performance
d) Voidable Contract Indemnity & Guarantee
e) Remedies for Breach of Contract
Q5. Explain Annual general meeting. What are the essential requirements of a valid
general meeting ?
Q6. Discuss "the minor's contractis veid". Are there any exceptions to the rule ?
Q7. Define "Promissory Note”, "Bill of Exchange" and "Cheque".
Q8.  List restrictive trade practices under MRTP Act and distinguish them from unfair
trade practices.
Q9.  What are the differeént methods of raisins capital by a public limited company ?
Distinguish between preference shares and ordinary shares.
Q10. When the consideration of object of the contract is said to be unlawfil ?
Ql1. Write short notes on any THREE :

a) Ordinary and special business .
b) Ordinary and special resolution /
c) Common Seal '

z d) Holding and subsidiary company t

e) Prospectus
f) Winding up of company

12. Write short notes on any three of the following :
a) Crossing a Cheque
b} Different Methods of Endorsement
¢) Noting and Protesting
d} Difference between Promissory Note and Bili of Exchange
e} Holder & Holder in due course
13. When is a seller of goods deamed to be "unpaid seller" ?
What are his rights against (1) the goods (.ii ) the buyer personally ?

s
s .. e foer e e e o s e
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University of Mumbai

Jamnalal Bajal Institute of Management Studies

First Year First Semester 2012-2013

Mim \ ™ ?M‘MMMMHRDM_ Principles of Management

Total Marks - 100

N.B: 1) Attemptany Five Questions

2 } All questions carry equal marks

1. “Maney is the only effective molivator. If you want people to work harder, pay them more
and they will perform petter. Al other forms of so-called motivators are @ waste of iime,

money and effort.”

"Do you agree of disagree with thé above staternent? Support your arguments with the
relevant motivation theories. Your answer should also include other possible motivators. '

(20 marks)

2. What are the key characteristics of charismatic leaders? Discuss pach of these key
characteristics in detail and illustrate your answer with examples. 7 (20 marks)

/;( |dentify and briefly explain the different kinds of skills needed by managers (0 perform the
task of management in organization. What Is the relative mix of these skills at different ievels

of organizationa! levels

/4./ Explain funciion of staffing. Staffing is the
personnel department alone” — discuss

5. "Decision making is at the core of planning.
of decision making.

(20 marks)
responsibility of every manager and not of the

{20 marks)

@ Discuss this statemenﬁgnd spell out the naturs
" (20 marks)

//5./ "Principles of management are flexible and not absolute, put must be utilized in the light of

changing and special conditions™- Fayol
management as enunciated by Henri Fayaol.

/7/. Exarmine the evolution of management thou

-
/87 Briefly describe the factors determining
departmentation and give exampies

—— VLR

AT LI TN U e e
e i = ¢ T et

Comment and summarize the principles. of
0
pRPCPSRET ”’;_sz o Goyps - (20 marks)

ght from the carly pioneers 10 modern thinkers.

(20 marks)
departmentaticn. Also mention the bases of
(20 marks) -
e Best —mmmmrem—=n
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Masters in Financial Management (MFM) ?‘}’E\:‘»;,,w #
Masters in Human Resource Management (MHRDM) e
Masters in Information Management (MIM)
< Masters in Marketing Management (MMM)
Maximum Marks: 100 ‘ Duration 3 Hours
_ [nstructions : t
(a) Answer an%%six}luestions. ‘ ’
(b) Figures to tRETIght indicate marks.

(¢) Candidates are not permitted to bring any aid to the examination hall, such as, bare acts, text

’ bocks, refarence baoks, pamphiets, notes, seratch papers, dictionaries, thesauri, or other
study materials, or any measuring devices, caloulators, laptops, net-books, i-pads, personal
data assistants, cell phones, beepers or pagers, photographic devices, stereos or radids.

. e
Q1 Explain the meaning of the concept of ‘corporate veil’. Under what {fiﬁ{i‘*“"‘

e

circumstances have the courts pierced or lifted the corporate Vel .o, (16)

/@ (a) -*A contract requires meeting of minds’. Comment. ..oy - e (8)

(b) Discusses the circumstances under which ‘free consent’ is said to be vitiated. ...... (8)

/Qﬁ/ Discuss the remedies available to the aggrieved party !when a contract is
breached. ... esen d Aemas s | cpeei park, lnlhen Quowkam Mevedd L (16)

3 Q4 (a) Whatdo you understand by “negotiable instruments’? Explain the commaon
\ features of NEgotiable INSUUMENTS. i mirer s st et (8)

(b) Explain the law regarding dishonour of a cheque. (8)

Q5 When is a seller of goods deemed to be an “unpaid seller’? Enumerate the rights
-~ of an unpaid seller...£xgrisn. 180 o Php de bmetl L eS e e (16)

(}Q% Discuss the law regarding competence of parties to enter into a valid contract, v (16
rogt I Msd o, Bl ound et e b b2 Aol dden by tews .
Q7 (a) Explain the distinguishing features of a private limited COMPANY vovvreeerevicvinirnennnin (8}
X {b) Enumerate and explain the compulsory clauses in the memorandum of
ASSOCIAtION. tovvive e

B /({8 Differentiate between the following:

) Conditions and WATTAMIES .vurvmres et rimiomerrsee s i e (4
- (b) Cheques and bill of exchanges TS OSSR SRURTUTPPON e v (4
3y Sale and agreement to sell ISR U O SUUUST UV UUUUUIR R UIROTGPRRTSOPOPRURPRPIN 3
i ) Offers and INVITATIONS £O LEEAT c1virvrivreeeriesseercereerasttanssrs s esrs v s s ess s g e e etne s mrnssma e nneens (4)

Q9 Write short notes on any four of the following:

. U&T\Q .
_(a) Exceptions to the consideration rule... g1FF5 Blsed wdahrs ) MG AR (5)
() Doctrine of INd0Or MANAZEMIENT ovrieriirimimm s (3) -
\ (¢) Concept and types of goods under the Sale of Goods Act, 1932, i, (3)
) ‘/‘\\ (¢) Meaning and types of crossing of cheques. . FOCOTPR (5)
(M \'SQ (e) Articles of association ST OO OO O OPUDOVOTDUUERIOUR PN OORON ()
\\ ; /r B Liquidated damages. s e e e et ae st e e e v (3)
f\/ﬂ[
M
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Jamnalal Bajaj Institute of Management Studies
i 64, Dadabhoy Naorojl Heuse, H. T. Parekh Marg_,
Backbay Reciamation, Mumbai 400 020,

First Year First Semester
of

Three-Year Part Time
Masters in Financial Management (MFM).
Masters in Human Resource Management (MHRDM)
Masters in Information Management (MiM)
Masters in Marketing Management (MMM)

Business Laws

Maximum Marks: 1CO Duration 3 Hours
ik nl2ooz Note: Answer any five questions

Q1 (a)  Explain the following contracts in one or two sentences:

{i) Voidable Contract. ... SUTRROIURS (2)

(ii) V0Id COoNtract ..ot e (2)

{1il)  Executory Contract. ... (2)

(iv) Implied CONETACE .ot ee et erene e e e e ee e (2)

(V) Tacit Contract... RSSOV ROURRRPTURRUSORIORORRROPS 074
(b)  Describe the various agreements that are vahd and

enforceable despite the fact that they lack consideration. ............. (10}

Q2 (a) Explain the d1fferent wa}fs in Wthh contracts may be .
T

discharged .......{. Yool .‘.’.}f.f':. P T (10y:
Mxpla1n the are the various remedies for breach of contracts....... (10}
@ ) {a)" What are the essential elements of a contract for sale of . .
\/1‘) - g00ds?........- ‘““rtm ........ (10) §
6)/Exp1am the term ‘conditions’? What conditions are implied P
in a contract for sale of goods? .......... ettt et e (10) &
g ’Q@;\_/(a) Explain the rules for transfer of property in goods under the
- Sale 0f GOOAS AT, 1932, i ereeresisese et s esniess e nes (10) }
(b)  What are the rights enjoyed by sellers and buyers under a
w’ contract for sale of goods? ... PV ONSIOR OO (10) N

@ - Continued on Page #2
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(b)

>
)

{2)

Explain the term ‘corporate veil’. Under what circumstances

does the court pierce this corporate veil?...........ccoooiiieninnen.

Explain the defining features of the following types of
companies in one or two sentences:

(1) Private limited company
(ii) Company limited by guarantee
(it} Government company
(iv)  Foreign company
(v}  Holding company

a) " Explain the imrortance of the objects clause in the
P % ]

..........................................................

. {10)

{\u/ j< - / memorandum of association of a company. How cana 25
company amend the objects clause? ... (10)
| )~ Explain, giving examples, the doctrine of mdoor ‘ . '
/ management. ........ ST O I (10) 3
Q7  (a) Describe the characteristic features of promissory notes.. .......... (10)
(by  Whatis the penalty for dishonour of cheques? What
conditions must be present for the imposition of penalty?........... (10)
Q8  ({a) Describe, giving examples, the various anti-competitive
practices carried on by sorme businesses. . ... (14)
(®)  Explain the following terms in one or two sentences:
(1) PriCe FIXIME ccooooloevoooeeoeomsesesssseseesssseessssssessn s sessssessssseereees ()
(ii) Retail price maintenance ..ot (2)
(i) Tie-iN SRS ..cmriuerreererecrmecrecnirseccanninces et enns e @
QS‘/W rite short notes on any four of the following:
(a)  Offers v. Invitation to treat ... s 5y L
(D) Caveat BIMPLOT ..curmecrmrsceeraremmsmreasssssssissss s simsssssssss s st sssssornseese (5)
“("c')‘ Doctrine of rohstructive TUOHICE coteeeerecrerreneec e esesencemanasernnnanees 5y
*(&j Articles of asseclation ..o e, et (%)
(¢)  Endorsement of negotiable 1nstruments ............................................ (5)
(f) Objectives of cOMPetION1aW ..o (5)
— \_
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Jamnalal Bajaf Institute of Management Studies

164, C. N. House, H. T. Parekih Marg, Backbay Reclamation, Mumbai 400 029,

Masters in Financial Management (MEM)
Masters in Human Resource Development Management (MHRDMM)
Masters in Information Management (MIM)

Masters in Marketing Management (MMM)

Year | Semester | Semester-End Examinations
Business l.aws

Maximuom Marks: 100 Duration: 3 Hours

Instructions:

e Answer any five out of the seven questions

». Figures to the right indicate marks

e Candidates are not permitted to bring any aid to the examination
hall, such as, bare acts, text books, reference books, pamphlets,
notes, scratch papers, dictionaries, thesauri, or other stady
materials, or any measuring devices, calculators, pe exsonal data

assistants (PDAs), cell phones, beepers or pagers, photographic
devices, stereos orradios.

}1/ Discuss the essentials of a valid acceptance’? What is the
’ postal rule Of ACCEPLATICET .. foeerrermsrcaerusrmsrmssss st (10}

Discuss the contracts that are expressly declared as void
under the Indian Contract Act, 1872, cocecrrvnrvesrssensissssssnrrmssasascsves (10)

/(,19/ What are the circumstances under which a minor’s
i agreemenf is con51dered e"thICQablC? eresrestsanrareaassasrresrerbisareaesasssras (IG)



A, sixpEigw

. Q’_\/ (a)  Whatis the caveat emptor rule? Why do some people think
X that this rule has bacome outdated? Give your views on the
relevance of the caveat emptor rule in today’s age ... (16)

(b) In what ways is a contract of sale of goods different from a
contract for Providing SeTVICEST i seminsi st ees (10

(%4 /()/ Describe the relation between the memorandum of
? association and articles of association Of & COTPANY . .cvuvermssmracers (10)

Explain the meaning of preincerporation contracts and discuss
the enforceability of such CORtracts «.ae e pererrmneteasecaensies vernseesscseonenes CEO}

}EK/ (@) Briefly state the defining features of the following types of

companies:

@7~ Private Limited COmpany ... O e )
G5~  Government COBUPAILY 1.vvvnrensdasseomsrrsessanasesassssenessrasioass SO {2y
(iify Company Limited by Guarantee....... rereeersrsrssrmssesssssssenivansras GOY
‘(}_:/)/ HOIAINEG COMPAINY crrrrrerrrerorarreeresrsssessessmssmsssassssssss s sirsssssesess )

Foreign COmPany o mrsemsesss JR—— wemeseepirssrsasrares S (2

/ (b)Y Explain, giving examples, the doctrine of indoor
e (AR S S (10)

Q6 (a)  Whatare the presumptions as to & negotiable instrumerd? .o (F0)

X (b)  Explain the meaning of the term ‘cheque’. What procedure
should be carried out by the payee to ensure that the drawer
of a dishonoured, cheque is penalized under the Negotiable
Instruments Act, 18817 USRS ¢ 1)

Ly

9/ Whrite short nbtes on a‘an the following:

(@)  Privity of confract..- e s aseernees perrerseanasse s e {5)
Y - Undue InfIHENCE coviioniciiiisnnannst

PO T T to.bm;;-pp-.tp‘go-uo.”nLn;s.----Atqno.ﬁnﬁv-»hns(s).

I A s (5)
o e i (] SRR e {5}

| /(e')/ Bonefits 0f INCOIPOTAON «..vevevrieseeensssssrsassesessersneseenss prreesereresnsnasnrasesinen (5
' ,Qﬂ/ Holder in AUE COUISE <nonroureaeeerrseroimasessssesrsenesctasaiasssstasss s stsstosaen e 2 2200 (5)
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November 300 Bxaminations
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Maximum Marks: 100 - ' Duration: 3 Hours

Instructions:

.
B4

9

Answer any five questions

Figuies 1o e fugisl mdiuiw inaeks

Candidates are not permitied to bring any fesdng aid o the examination hall,
such as: notes, scratch papers, calculators, personal data assistants (PDAs), cell
phones, beepars or pagers, photographic devices, siersos or radios, books,
pamphiets, or other study materials, dictionaries, thesauri, or any meaéim’ng
devices. : '
Access to telephones, celtular (mobile} phones, pagers or other communication
devices wiil not be permitted at any fime while you are in the examination hall

Q1

Q2

(@) iscuss the law regarding compeiency of parties to enter mto a

valid contract. .... vermreaneanen - e e sens e {10)

(b)/ Explain when the consent is said to be induced by “fraud” and
“misrépresertation”. .......cocerisreerevane cerrrser s eensaen (10)

(a) An agreement without comisideration is void. Disevas.... - cessees{ 10)

(b}  Explain, giving examples, the concept of ‘invitation to treat’. How
is this concept different from an offer or proposal?.....rvereveeneee P—— 1)

@)/ Is ‘“merchantable quality’ a conditon or a warranty? Distinguish
~ between ‘Conditions’ and ‘warranies’. ... rerennseaenseninnans (10)



Case Study

-

A 40 year old Korcan native, who moved 10 New York with his mother in 1976, 1s Lhe

Soandor and CLO of Ageney com. one of the Teest mtersctive online ad agencies around these
davs, ' ‘

Although nicrestive advorising o pnses only about 1 percent of h200 billion$
adverising market, its poreniial iz cnormous In 1998 alonc, the four year old Agency.com

quadrupled in size as sales zoomed from SIS million te $80 million. Its client list, including
3n i dDirecty. Gueech, Land Rover, Saab, the Olive Garden and Visa would be the envy of any
ol the traditional Big Six advertising agencies, Unlike these firms, however Agency.com is not
nopulated by slick exccutives in tatlored suits luxuriating in the wood-pancled suites of New
Vork City high rises. Instead, Agency.com’s casually attired, body-pierced twenty-somethings
work in a poorly ventilatied room over the loading dock in Manhattan’s Time — Life building.

Sub considers himsell fortunate o Bove not only (he 600 talented people who make ap
(he cotnpany but alse the space sl lis major Grst business asscl, Although bankers just
laughed at his business plan in 1995, Suh was determined to Jaunch his agency. So, cashing in on
the goodwill he developed with his former employer, Time-Life( for whom he earlier developed
Vibe online before venturing out on his own ), Suh struck a deal in which he got the space in
exchange for completing several projects. One of these was the highly regarded Web site for the
1995 Sports lliustrated swimsuit,edition video. On the strength of his successful experiences with
Time. Suh was able attract more blue-chip clients, for whom he struck gold. The Website
Agency.com developed for Metlife, for example, grew in popularity from 300000 hits in 1996 to
over 4 million hits in 1997. This Web site was only one of over two dozen for which the
company won awards for various clients in 1998 (including a prestigious Clio for Pacific Bell).
In 2001 alone. Agency.com won 15 prestigious awards for its various Web designs.

For Agenéy.cm to continue to grow — Or even 1o survive the inevitable the
shakeout that's forthcoming in the interactive advertising business — Suh realizes that his
company will have to double in the coming months. And with offices now extending beyond
Ney York - including Bosion Chicago, Dallas, San ransisco, London, Amstredam, Paris and his
native home; Deoul, Rorea the company’s reach has broadenl dramatically. Tmportanty, as
clicats eroty more sophisticated, they are moving [rom being knocked out by the novel, whiz-
bang technology to the stage where they now are demanding results — a return on their
advertising investments. Suh knows that this will keep him busy hiring the most talented and
creative people he can find — individuals who share his vision for taking technology to places
where no advertising agency has ever becn before. '

it’s having 2 vision and chasing it that Keeps Chan Suh navigating these uncharted
waters. Alter-all, only @ true visionary and pioneer would say, “We love the fact that we get 1o
- vent the future while we live in iU, If Suh’s Vision even comes close to being as accurate as it
“has been, there's every indication that he will reach the goal of making Agency.com a £1 billion
company. Based on recent figures, he appears to be well on his way.

01, What special qualities make Chan Sulso ¢lTective as a leader?
02 Would you say that Chan Sulvis a cha smatic leader or a transformational Teader?

«



Business Law
First Year First Semester of Three-Year Part Time
Masters in Pinancial Management {MEM)
Masters in Human Resource Management (MHRDM)
Masters in Information Management (MIM)

Masters in Marketing Management (MMM)

Maximum Marks: 100 Duration 3 Hours

Instructions

® Answer any five questions.

. Figures to the right indicate marks.
»

Candidates are not permitted to bring any aid to the examination hall,
such as, bare acts, text books, reference books, pamphlets, notes,
scratch papers, dictionaries, thesauri, or other study materials, or any
measuring devices, calculators, laptops, net-books, i-pads, personal

data assistants, cell phones, heepers or pagers, photographic devices,
stereos or radios.

Discuss the law relating to the capacity of a person to enter into a valid
COMUTRCL. <eireiieirercrerernresecernt s etas e eee s eeemeesear e s oreeras fete ettt e ae s r e e ranaareee (20)

What do you understand by “free consent’ in the context of contract law?

XU (1) COBTCAOM? et reeiseecs s sis e bass s s ssmes e ees e r s sreeeeeseseesesrene (20)
Q3 Discuss the essential elements of a contract for sale of goods. ..oocereveeeerecennen (20)
Q4 Discuss the rules for transfer of property in goods to the buyer. ........c..cccoo....... (20j
Q5  Distinguish between: ‘

(a) Private limited company and public limited company ............. S (10)

(b) Offer (Proposal) and Invitation to treat......ccooeireerieernrceciccceninien, (10)

Write short notes on any four of the following:

Breach of contracts.........ccoveciceenirccnna. PO UORROPRO (5)

Holding and subsidiary cOmpanies .........c.oeeniieesnicrccnicceccecinneos ()

/' Misrepresentation ..o e (5}

(d) Concept of “Goods” in the law of sale of EOOAS 1ot (5)
@ Piercing the corporate weil. ... rereee (B)

() Rights of an unpaid seller ... e e (B)
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s for 2 cases. The parainziers or the process are
ment on the state of process. Stale at what point witt you

a'so given below. Com ou will take, |

i i faction y
be alarmed (if al all}and what is the course o :
Case i Wiean X Ch:a_:ri .
i 8
He 2 - Sample Size .
!Sﬂ;an (EJSG Sampiing Frequency 1Hr

K o bd
LCL = -~ Mean ¥

Sample Size 4 ‘

Sampiing Fregquency 30 Min

T —— g —— L S - Range

/ o , 10 Marks
“I believe n'my people ang Processes; we are moﬁng slow but [ am sure we W{H
reach the goal® sajid vik(am makhija, the ! D of soha_fl auto Components Lid, a big

organization___ &Xporting major pars to’ Honda, GM, Forg and: alsg supplying ‘to .-
focal car manufacturing units, 1t 9ot severely hit due to 2 quality problem 2 years .
back within their factory due to which the car Manufacturers almost blackfisted it,
But due to 9004 relationg shared by Mr Makhifa with car Mmanuafacturgrs and alsp

the great his_tq;y,behmd, he got one more chance to show improverﬁents_

machinery. People hadlost faith In the system and hence negligence yseg
happen at all the Stages, .

TGM was implementey and resuits were 0 be seen. gyt his '_youﬁg son Nikhil,
graduated from Harward, hag BPR in mind for fast resuitg. -

“We cant be so Patient in this fast changing world, your irnproi-ernent process is
amn siow” Nikhi Used to complain, However, his father wag veiy,clear about
1% ST -

Whom do you subpoh *Father or the Son? . 4
Q6. ’ C ‘ ‘fO Marks

1} What are different manufacturﬁng Systems? Explain with practical
examplas -
2) Whatis materials Mmanagement 7 Explain agc anal

P




COMPANY LAW QUESTIONNAIRE

Ql. How does a private Limited company have the unique position in the scheme of
Companies Act, 19567 -

Q2. What are the exempticiis and privileges of Private company under Companies Act?
Q3. What are the provisions of the Act affects Private Companies?
Q4. What is the meaning of “Subsidiary company” and the “Holding Company”™?

Q5. What are the Important provisions of the Companies Act in regard to Holding ~
Subsidiary—relationship?

Q6. What tests are applied to determine Holding-Subsidiary relationship?

Q7. What are the special features on creation of Subsidiary by controlling the
composition of Board?

Q8. What are the special features of creation of a subsidiary by virtue of Share-Holding?
Q9. What is meant by wholly owned subsidiary — how is created?

Q10. How does one ascertain the status of an Indian company being a holding conﬁpany
or a subsidiary company or a foreign company?

-~

Q11. What are the restrictions on a subsidiary company holding shares in the Holding
company?

Q12. What are the restrictions on a Holding company providing financial assistance for
purchase of share of subsidiary company?

Q13. What are the requirements of Companies Act regarding painting or affixing a

company’s name? {See the guidelines for availability of name of company & for use of

Key words;j. .
p

Q14. What do you mean by a Memorandum of Association?

Q1S. What does subscribing to Memorandum of Association mean?

Q16. How are the various clauses of Memorandum of Association framed?

Q17. What is the Ultra Vires doctrine?

Q18. What is the immpact of the section 9 on Memorandum of Association?

Q19. What are the condition and non-conditions included in a Memorandum of
Association?

QZ20. What are the criteris for alteraticn of Chisctives in the Memorandum of

DA T AV ST I WLV S ¥y
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LAW OF CONTRACT QUESTIONNAIRE
Ql. What is an agreement?
Q2. What are the rights & o obligations an agreement | expected to contain?
Q3. What do you understand by the term “Formation of Contracts™
Q4. What are the fundamental requirements of a valid contract?

Q3. What are an Offer or Proposal and Acceptance?

Q6. How do you distinguish an offer from invitation /statement of intention/ mere
communication?

Q7. When an offer lapses?

Q8. What do you understand by revocation of offer by offeror?

Q9. What are the rules governing acceptance?

Q10. What is a standing offer?

Q11. What 1s meant by contract by post/telephone?

Q1i2. Define “Consideration”? And what.are the exceptions under No considerations?

Q13. What are the kinds of consideration? And what are the exceptions under No
Considerations?

Q1l4. When a contract becomes invalid?

Q15. What is a void contract?

Q16. What is a voidable contract? ' ’

Q17. What do yot understand by Minors contract? ¢

Q18. Can a Lunatic signing an agreement is valid in law and if not why no?

Q19. Can a contract be 81gned with an alien enemy’s countries customers and what is
the validity of such contract?

Q21. What is the effect of g mistake in a contract, mistake of law, Mis- representatlon')

Q22. What do you understand by Innocent Misrepresentation?

23. Wiiat are the essentials ; mn an Insurance contract? What principles are involved in
—- suewadiCe Contracts?®



Q21. What is the procedure for alteration of Objects clause on 2 Memorandv 1 of
Agsociation?

Q22. . What is the procedure for alteration of Domicile clause on a Memorandum of
Association? i

e

Q23. What is the duty of the company registered under Companies Act 1956, regarding
giving the Member copies of Memorandum of Association?

Q24. What special prov131on of the Companies Act, 1956 should act on Memorandum of
Association?

Q25. In what manner should the Article of Association be prepared for subrmssmn to the
Reg13trar of Companies?

Q26-JHOW may alterations in Articles be drafted?

Q27. What are the requirements in regard to formation of a privaté limited company?
Q28. What is the procedure for incorporation of a private limited company?

Q29. What are tﬁe features and advantages of Section 25 Company vis-a-vis a Society?

Q30. What are the exemptions available to Section 25 companies in the Companies Act
19567 -

—a—
-




SALE OF GOODS ACT, 1930 QUESTIONNAIRE
1. What do you understand by Sale & Agrsement t5 3247
Q2. How contract of sale is made?
Q3. What is the subject matter (;f contract?
Q4. What 1s ascertainment of price?
Q5. What do you mean by “Agreement to sell at Valuation™?
Q6. Write Short notes on:-

. Stipulation as to time

m

b. Conditions & Warranty

¢. When condition to be treated as “warranty”

d. Implied undertaking as to “Title”

e. Sale by “description”

f. Implied conditions as to quality or fithess

g. Sale by sample

Q7. What do you understand by “Performance of Contract™?
Q8. What are the rights of the unpaid seller against the goods?
Q9. What do you mean by unpaid sellers lien?

Q10.What do you mean stoppage in transit?

Q11. What is transfer by buye;" or seller?

Q12. What do you understand by “suit” for bfeach of contract?
Q13. Write short notes on:-

a. Exclusion of implied terms and conditions

b. Reasonable time ~ a question of fact
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Q24.

Q25.
Q26.
Q27.
Q28.
Q29.
Q30.
Q31.

Q32.

FRCTTER MO Q0 o

Write Short Notes on:

Difference between fraud and misrepresentation.
Coercion.

Willful misrepresentation.

Contracts.

Megal Agreements

Immoral Agreements

Agreement in restraint of Trade

Void Abinitio.

Wagering Contracts.

Void Contracts

Wager

Quasi-Contract.
What do you understand by “Discharge of Contract™

What is performance of Contract?

Who can demand performance of contract?

What do you understand by discharge by mutual consent?
What is meant by impc;ssibﬂity or frustration?

Whatis a Ereach of contract?

What are the remedies for breach of contract?

What do you understand by Liquidated and Un-Liquidated damages and what are

the kinds of damages are there?

Q33.

Q34.

Q35.

What is contract of igdemnity?
What are the rights of indemnity holder when sued?

What is a contract of guarantee? What are the distinctions petween indemnity and

a guarantee?

Q36.
Q37.
Q38.
Q39.
Q40.

Q41.

&

What do you meant by Surety and what are the rights of Surety?
What do you understand by discharge of surety?

What is bailment and what are the duties of a Bailor?

What are the bailee’s particular lien/general lien?

What is a contract of Pledge and what are the rights of Pawnee?

What do you mean by pledge by non-owners?

7
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Q1.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.

MONOPCLIES & RESTRICTIVE TRADE PRACTIC

7

What are the powers of the Commission?
What are the powers of its contempt?
What do you understand by conclentration of economic power?

How the central government directs the severance of inter-connection?
What practices are deemed to be pre-judicial to the public interest?

What do you understand by Registration of agreements?

Define unfair trade practice with some explanatory examples



—_

NEC-OTL%BLE- INSTRUMEKTS ACT QUESTIONNAIRE

Q1. What is Securitization?: .

Q2. What assets can be seéuﬂﬁzcd?
Q3. What are the types of Securities?
Q4. What are International Secuﬁties?
Q5. What are the steps involved such as

a. Creation of a Basket or Pool of Loans /Bills/Actionable Claims.
b. Forming a Special Security Vehicle
¢. Splitting into Shares of Securities

Examples of Pool of Assets

Loans & Advances ___ Belonging to Originator_____, Receive the, Loan Amount

Passed to a SPV.

Debtors -
(Asset Value (Shares Securities by SPV, 8PV .__, Maybea Bank/Financial Instituticn

Bills
Other Receivables

Q6. What Assets can be securitized?

a. Mortgage ' /

b. Housing Loan

c. Car Loans .

d. Credit Care Receivables/Trade ReEeivables/ Book Debts/Bills/Actionable
Claims

Q7. Types of Securities

a. Securities co_nﬁned to national boundaries.
b. Securities operated internationally.

Q8. Advantages of Securities

Liquidification.
Avenues for Investment.
Mobilizes fund for Investment.

LR ™
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Easy Transferability.
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Q9. Legal Issues/Loss Involved

Transfer of Property Act, 1881.
Registration Act, 1988.

Negotiable Instrument Act, 187 2

Indian Stamp Act, 1899 .
Income Tax Act, 1961. © ' '
Securities Contract Regulation Act, 1958.
SEBI Act, 1992.

@ o

Q10. Role of Government

Removable of All Legal Barriers

Providing appropriate incentives & adequate infrastructural facilities.
Stamp Duty Remissions '

Income Tax Incentives

Development of Infrastructure.

oo op

Q11. Creation of International Securities.

Indian Side

\ | _
l ., l

Shares, Stocks Debenture/Debenture Stock Release of Infian Investment

Release of Depository

Foreign Country

! | i

Repaid to Foreign Investokrs _ To Foreign Investors b

Issue of GDR/IDR

Creating a SPV.

!

A Foreign Deposit {Debenture, Stock}.

Q12. What is the need for Negotiable Instrument?



Q13. Negotiable Endorsement can be done in two way

When the Instrument is Payable to Bearer it is N egotiabie to Third Party.
When the Instrument is Payable to “ORDER” then negotiation can be dene by
the first endorsing it & then delivering it by the Holder.

.U“ o

Q1l4. Promlssory Notes (Section 4} must be payable to or the Grder of the specified
person name in the note?
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Note: Answer wny FOUR
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260 April 2011

1. What is demand forecasting” What i1s the need of demand foiccasting?
Cxplain the measures like Smoothing techniques and Analysis of time series and trend
projections.

2. What is monopely? What are the causes of monopoly? List down the disadvantages of
monopoly. Write down the different measures of monopely puwer,

3. What are the general considerations which must be kept in mind while pricing?
Write down the objectives ol a pricing policy of a firm.

4. Wrile short notes on (any two) ©

) Price Forecasting
T 3Cs framework of pricing.
i)  Different profit theories.

Brealk even peint analysis

e

. N - ~ - . - 5 . .
Prove with the help of the theory of 6/10 (60:40} rule that the ai-ease in production icads 1o
an advantage of economies of scale.

/6/5\ manufacturer makes and sells tabies. tamps and chairs. The cotiaccounting department
and the sales department have supplied the following dats as givenbelow:

| PRODUCT SELLING PRICE VARIABLE COST | Percxtage of rupee |
per unit per unit sales “luime Rs.
Rs. Rs.
TABLES 40 30 - 20
LAMPE 50 40 30
CHAIRS 70 50 50

Capacity of the firm —-Rs. 1,560,000 of total sales value.
Annual fixed coste---- Rs. 20,000

Now, czlculate 1) Break even point.

{1

ity Profit if the firm operates at 80 percent of capacity.

e
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Part Time MasLers Course
Operations: Management Exammatmn

SECTION1- 1.9 heurs

Note 1. Quastion 1 is complisory. Attempt any 3 rrorn Questions 2-6
2 Make va!id assumptions whetraver necessary State them ciear!y

Q1. ‘ ' Attempt any 4 ] ZOMarks

1. Explain what is process chart in method study and how is it used~for'preee's
;- improvement
2. Define & Explain TQM. Who were the contnbutors to TQM, give details’of any
one of them with pragtical examples P .,
3. Value engingering is focused on “Cost reduction Give your vie-i.'s and' >
e -with practical examples.
What are the key differences between BPRg& Kaizen
5 Explain why. P & Q systems of mventory management were used more 1
#1970 as, compared to ECQ.
Enumerate somé key factors that influence selection of facility lgcation
‘_,7/ Dtﬁerentiate between product layout and process laycut
/B/Exp ain why 2 charts, viz. Mean X chart and R chart are used in SPC‘
only one of these’P

- 10-Marks *
Explam Johnson s 2:machine rule & so!ye the following proolem :

There .are 8 jobs o be processed In the seguence MA-M2, Find 1
'optlmal sequence with the make-span. AIso find the idle time for M2

S T T E T —
3 7. 110 |
| £ T 11‘5

calMt .8 i

u i _- 10 . .
o - 10 Marks
" For a project, the details for each activity are as given below. Find the. fotcl
- project duration and Critical activities. '

P~

[e T H R 18]
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‘] Fotvity | A | B | C “DE [ E | F

1 Immediate : G !

‘ ‘ Predscessor | _ A B 1A ‘ c | © :
‘I Duration 6 7 14 12, [ 3 [ 9 ,
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JARNALAEL BAJAY INSTITUTE OF MANAGEEMNT STUDIES
MIM / MHRDM |. Semester |
Manageriali Economics _
Dufation 3 hrs g" May 2012 Marks: 80
Note :Alf the questions are compulsory, Figures to the right indicate full marks aliotted
to the question. Draw diagrams wrigrgver necessary.
Q. 1. Explain the concept of “Ceteris Paribus”. ' P
OR _
VM Elaborate how the concept of ‘“Consumer Surplus” is useful to a business manager i his
decision making. ,
\/@/Z With the help of examples, explain the use of the concepts of Price elasticity of demand
: and income alasticity of demand in business decisions.
OR _ ,
Q. 2. Define the term price elasticity of demand. Explain various methods of measuring nrice
elastiqi'_t_yﬁw .
Gi. 3. Write in brief ofi Returns to Scale.

OR

What is Break- even Analysis?

What are the essential features of a perfectly competitive market? llustrate a firm

making 2 short- run oss. YWhy is this situation urlikehy
OR

“Besides profit maximization business firms have other goals fike Sales Maximization,

sist in the dnng cun’

Growth Maximization, Manager's Utiiity Maximization, etc.” Discuss.
Write a short note on Opportunity Cost.

OR ' _

From the following data find out Average cost and Marginal cost.
Unitsof Qutput: 0 1 2 3 4

Totatl Cost; 50 8C 120 170 230

"Cartels are beneficial because they reduce Uncertainty”. Discuss.

OR ‘

\Write on degrees of Price Discrimination.

What was the solution suggested by John Maynard Keynes tc deal with the Great
Depression of 1929-307

OR

What is the prescription of 1. Keynes for smoothening business cyrfie?

10

10

15

15
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JAMNALA?. BALAY INSTITUTE OF MANAGEMENT STUDIES
MANAGERIAL ECONOMICS
MMM 1 SEMESTER it
Duration3 hrs &™ May 2012 Marks: 100
Note: (1) Attempt ANY FIVE Questions. {2y All Questions carry equal marks.

Q4 (,a’f Explain the concept of “Ceteris Paribus”.

() Distinguish between “Movement along the Demand Curve” and “Shift of the Demand Curve”.  What
are the faciors which can Cause a “Shift in the Demand Curve”?

(e With the help of examples, explain the use of the concepts of Price e:aqt;mty of demand and income
elasticity of demand in Business decisions. P

Q,Z/:Explam the effect on market price and quantity in the market for Mobiie phone handsets of each of the
following:
Consumer incomes rise.
¥7 Technical improvements reduce production costs.
(Q)/The price of fixed-line calls falls sharply.

Q.3 Suggest products that you think might have the following patterns of elasticity of demand:
~high income elasticity, high price elasticity;
~high income elasticity, low price elasticity;
low income elasticity, low price elasticity;
low income elasticity, high price elasticity.
X Define the elasticity of demand and explain why this concept should be of interest to anyone in
business whohas a choice to make about the price at which to sell their products.

Q.4 What are the three rules of profit maximization? E\qplam these rules in the context of a firm that is in a
perfectly competitive market structure.
3.52) Why riust marginal revenue be less than price for any firm that faces a downward-sloping
demand curve for its product?

b) In what sense does menopoly lead to a misaltocation of resources?

¢} Why are most cartels doomed to failure in the ]ona run if they use their cartel power?

Q.6 a) What is a Nash equilibrium and why s it self—poltcmcr‘7

b) Why do you think that non-price competition is an imporiant Factor where there is a small U’”Gup of
interacting competitors?

Q.72F Name two macro economic variables that decline when the economy goes into a recession. Name one
macro economic variable that rises during a recession.

&) Draw a diagram with aggregate demand, short-run aggregate supply, and fong-run aggregate supply.
Be careful to label the axes correctly,

¢) Explain why the long-run aggregate-supply curve is vertical.

Q.8a) Draw the short-run tradeoff between inflation and un&mployment. How might the RBi move the
economy from one point on this curve to another?

b)Draw the long-run tradeoff between inflation and unemptoyment, Explain how the short-run and
long-run tradeoffs are related.

Q.9 a) What was the solution suggested by John Maynard Keynes to deal with the Great Depression of 19297

b} What are the ideas of Keynes which can be utilized to tackie the current Global Recession?

<) Ir what region of the Short Run Agcrregate supply curve wili

Keynes® Prescription work?
Q. iﬂ Why might Government Intervention in the form of price ceilings and floors, have undesirable
conseguences? Explain with atleast one example.
OR

Does the “Paradex of theift” mean that saving is bad for the Economy? Elabhorate.
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MANAGERIAL ECONOMICS

Date: 12 May 2009
Time: 2.30 pm to 5.30 om Marks : 100

Note: (1) Attempt any FIVE Questions.

(2) All Questions carry equal marks.

o)
[WRY

(a)  Explain the concept of “Ceteris Paribus”.

(b) Distin'guish between “Movement alohg ‘the Demand Curve” and
“Shift of the Demand Curve”. What are the factors which can
cause a “Shift in the Demand Curve”?

{c) With the help of examples, explain the use of the concepts of
Price elasticity of demand and income elasticity of demand in

business decisions.
OR

(@) Explain the Hicksian approach to consumer equilibrium with
indifference curve technique.

(b) Elaborate how the concept of “Consumer Surplus” is useful to a
business manager in his decision making.




(b)

(c)

Q.3

Q.4
(a)

(b)

Erom the following data find out Total Fixed cost, Total variabie
cost, Average cost and Marginal cost.

Units of Qutput 0 1 2 3 4

Total Cost 50 80 | 120 | 170 | 230

Explain the relationship between Total cost, Average cost and
Marginal cost.

Explaln why increasing the level of output produced in the short
run is likely to require a higher product price than if the same
increase in output takes place in the long run.

What are the essentia! features of a perfectly competitive market?
Hlustrate a firm making a short-run loss. Why is this situation
unlikely to persist in the long run?

OR

“parfectly competitive market in the short run allows even the
jess efficient to survive for some time” Discuss. |

Why must marginal revenue be less than price for any firm that
faces a downward -sloping demand curve for its product’-’

In what sense daoes monopoly fead to a mlsallocatlon of
resources?



Q.5

- Qas

(b}

(b)

(a)

(b)

Why are most cartels doomed to failure in the iong run if they use
their cartei power? )

OR

“The discriminating m'onopolist allocates his output and price in a
manner such that he can maximize his profit”. Discuss with

~examples.

“The market that exists mostly are monopolistic competitive

- market” — Elucidate with reference to auto industry.

Explain tnhe nature and managerial uses of the Production
Function. '

As a managerial economist, what are the factors which you will
take into account while introducing a new product in the product
line of your firm?+ Discuss the problems involved in product-line
pricing.

To what extent is it true that pursuit of one macroeconomic policy
objective involves a trade-off in terms of the worsening of a
different nacroeconomic target? ‘

Draw the short-run trade-off between inflation and
unemployment. How might the RBI move the economy from one
point on this curve to another? o

[ <



G.7

G.8

Qs

(a)

(b)

(bj

(c)

How migi it the (.«cvernment use fiscal policy to influence the
econonyy How iaight the RBI Governor use monetary policy to
influence, the e onomyy  Should RBI function with total

autonomy ¥

List the ‘arious fiscal and monetary measures takan hy the
Governnu nt of india/RBt during the last 6-8 menths tc tackie the
impact of :he Glol.al Recession in India.

What was the sol:tion suggested by John Maynard Keynes to deal
with the ( reat Deoression of 19297 ’

What are the ide.is of Kevnes which can be utilised tc tackle the
Global Re :ession isf 2008-097?

In what egion «f the Short Run Aggregate supply curve will
Keynes’ P Qscrlpfl an work?

Write Short Not :s on any Four of the following.

(a)

(b}

{c)

(f)

Opportun ty Cost.

Adam Sm th’s Inviiible Hand Doctrine
The Prisoi ers’ Dils mma Game
Circular-F ow mociel

Business t ycle

Capital Bt dgeting
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Note: Attempt any five questions ' '
All questions carry equal Marks

. (2)Explain what is meant by the term proﬁt maximization in economic theory and
how it can be achieved. Explain why Profit gets maxiizized at the point where MR=MC?
(10)

(b) Write brief note on alternative objectives of forms, besides the objective of profit
maximization. ( 10)

7@2 (a) Krishna dairy is aellmg flavored milk and butter:mlk The dauy sells 2000

packets of flavored milk and 1000 packers of buttermilk daily. The former is priced at Rs.
6 and latter at Rs. 4. A market survey estimates that price elasticity of flavored milk is -
1.2 and cross elasncrcy between the two products is +1.8. The deziry is contemplating
increasing the prices of flavored milk by 20%. Work out the impact of the move on the
demand of the two products. (8)

(b} Define the term price elasticity of demand. Write brief note on various methods of

measuring price elasticity. Also explain how the concept of price elasticity is diﬂ'erent
from the concept of income elasticity. (12)

Q3. (&) Explain tue law of returns to variable input and state its assumntions {Short run
Srodaciion law}. What is the practical explanation for the application cf the law? Quote
exampie of any iudustry or sécfor where the application of the law is evident. (10)
(b} Explain wlﬂy it is said that short run average cost curve has “U” shape while the
long run cost curve is flatter? (10) )

\/QA/(a) Marky. .rell Ltd manufactures filing cabinet. For the current year the company is
expecting to sell 4000 cabinets. Company is making profit of Rs.100, 000, The fixed cost

for the company is 10, 00,000 and the variable cost is 60% of the sales value. You are -
required to compute the following:
- % 1. Break Even Point for the company.

2. Sales required for generating proﬁI of Rs. 20, 00,000.(10)

(b) Sales manager of a company is trying to forecast demand for the year 2008. Sales
ﬁgures for the past few years are as follows:
Year 2003 2004 2005 2006 2007
Sales 540 380 740 960 800
By using five year moving method and regression analysis (Both) predict demand for the
year 2008 and 2009. Which of the two methods is better and why? (10)

/\QQS (a) Explain bow price can detenmined under perfect competition. (10}
(b) Write brief hote on degrees of Price discrimination. (10)

P.T.0.

< |



E CASHTIMNELowW > Frrenend ol oo A (o LY
()p';—m{_" ¥

ey

Q6. Explain the relevant economic models of oligopely, which explain the following v o
% oligopoly market conditions:

1. Emergence of price war and war for market shaye. _

2. Price being sticky for some products in oligopoly market. (20)

o Q?. Write detailed note on pricing policies that can be adopted by various firms under
74 varied market situations. (20)

Q8. (a) Explain with help of any contemporary economic model the reasons for
- emergeénce of business cycle. (10) '
" (b) Explain, why the national income and employment level in any economy is
dependent on the aggregate demand and sggregate supply of the economy. (10)

- Write short notes on any two of the following:
1. Law of retuns to scale.
2. Importance of capital budgeting.
/& 3. Survey techniques of demand forecasting.
e 1
5

. Price determination under monopoly.
. Cross elasticity of demand

\Ma) Solve the following:

For an economy the input outout model carvies the following values:

| From/To A , I FC B
LA 200 609 200 )
B - ang | 800 | 800 |
Where A = Agriculnure
B = Industry
FC = Final consuruptior. .
- Work out the appropriate values for ths total output to be generated by the zpriculture and
- mndustrial sector if the value of Final Consumption for the agricultural sector in fiture is
expected to be 400 and for the industrial sector the same is expected to be 1000.
(b) A company is considering following mvestment projects;
Cash Flows ]
Projects | Cash Outflow | Cash Inflow Cash Inflow Cash Infiow ‘{
& % (End of Yearl) | (End of Year2) | (Endof Vear3)
{ A 10,000 . [5,600 8,000 ‘ ]
B " 10,000 7,509 7,500
C . 10,000 2,000 4,000 12,000
D, 10,000 8,000 3,000 2,000

Rank the projects on basis of following methods;
1. Payback Period Method ' .
2. NPV Method (Discount rate being 10% and present value of Rupee one being:
0.909, 0.826, and 0.7521 at the end of year one two and three,
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University of Mumbai ‘ :
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Subject - Managerial Economics

Time: 3.00 to 6.00 Date: 28/04/2007 Max. Marks: 100

Note: Atterzpt any five questions
Al questions carry equal marks _ :
Draw apprepriate diagrams, wherever required

* QL. {(a) Define Price elasticity of demand and Income clasticity of demand. (10)
(b) Analyse what happens to sales and revenue of suppliers when govemment
itnposes sales tax/ excise on cigarettes when:
L. Demand for cigarettes is elastic.
2. Demand is inelastic (10) : -
If the government’s goal were merely to raise tax revenue, would it be better to
tx goads with.elastic demand or with inelastic. demand curves? - - - '

. Q2. (a) Why, the Government: intervention in form of price ceiling and floor, for certain .
products may have undesirable consequences? (10) .
- (b) “T'ent contrel in the cily of Mumbai, has led to scarcity ih hausing stock”,
- Discuss. (10) . : ‘ -

Q3. (a) Which of the following industries would you say. is close to being perfectly
compeiitive market and why: Brewing-and wine making, Taxi driving, Airlines,
Copper Mining; Potato Farming, Car Manufacturing. (10) . ™

- (b) Firms maximisé profit where. Marginal cost equals Marginal Revenue (MC =
MR). By using diagram or by using mathematical theory, explain why this is the
case, (10) - - ' -

Q4. (a) Compare and conﬁ‘a.ét-P‘erfect competition, Monopoly and Imperfect competition.
(b) What are the various methods of dealing with Monopoty? (10)

allocation decisions. (8) : N
-~ (b) Explain following cost concepts: Fixed cost; Average Fixed cost, Variable cost
Voo . Average Variable cost and Marginal cost. Explain how their diagrams will vary if
Y . the cost function is assumed to be liner or if it is assumed to be cubic. Which

Q5. (2) 'Explain how the concept of Opportunity cost measures the_real"cost of resource

\ ' assmmption may be more practical? (12)
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Q6. Explain relevant economic models of oligopoly, which explain the tollowing two
oligopoly market conditions:

I. Emfergence of price war and war for market share

2. Price being sticky for some proaucts in oligopoly market. (20)

Q7. Explain different methods of pricing used in business. Do you think that pricing is
done only for profit? Discuss. (20}

Q8. (a) Describe what is “Business cycle”. What are the economic explanations o the

causes of business cycles? (i0) |
(b) What is the prescription of J.M. Keynes for smoothening business cycles? (1 0)

Q9. Write short notes on any iour: (20)

Differentiate bevween Econontic profit and Business Profit.
Price Discrimination.

Monopolistic Competition.

Garae theory-and its application in oligopoly market.

- Quantitative tools used for Demand Forecasting.

Break Even Analysis and its link to economic Cost concepts.

e
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i Note: 1)  Attempt Quesiion No.1. which is compulsory and
/ 2y Any 4( Four) from the rest.

3) Ali question carry egual marks.

Q.1} Mr. Gupla runs a general store. His Trial Balance as on 31% March 2064 was as foliows

Particulars Dr. ! cr. J
— X Rs, i Rs. ;
A Capital - . 1L 12,50,060 |
L. . Drawings- _ 125000 1 T [
-7 | Puchasers ~19,62,000 B
T | Sales - ~ . _ e 2590,060 | v
T, | Opening Stock .~ 2,20.060 l g
i °Y 1 Retumns Quiward - ) - L 22,000~
? il | Freight loward ) _ 53,000 ’
_ T| Discount Received 25,006 1
Pa L Salaries - o 2,95,000
P2 1.1 Commission ’ N 57,506 |
pe-b  Discount Allowed 25,000 |
Pd L | DiseeuntReeeived YN iciongd Re(elved 32,000
/3 | Bad Debts ) 19500 .
st Provisions for Doubtful Debts o ) i 15,000 ] v
A Sundry Debtors b 2,65,000 |
71 Purchasc Subsides e 64,500 !
| Rewrms loward ¢ - _ ) 26,000 .~ i
o [nvestmeant e ) 205,000 e
A | Funmre T ~ 220,000 v
I | Sundry Creditors o 2,00,000 !
Py | Salesmen’s Commission B ‘ 15.000 _i\/:
Po L [ Office Expenses ] 72,500 M
L | Sales Tax T B 1,22,000 - N
A | CashonHandand at Bank T 629,060
f - T "42,56,000 256500 ]

Additiceal Infermartion
(a) Mr. Gupta purchased a running business of Mr, Gour for Rs, .‘),90 000 em 31% March, 2004, He took
over stock of Rs.3,25 000, Debtors Rs. 2 55, 000 Furnitirs Rs.75,000 and Crdeitors Rs.75,000. No
L

eniry was pass=d for this transaction. (X
{t) Closing steck as on 31 Mach, 200{4 was not vaiued., Mu. Gupta earned a uniform rate of gross profit of
23% on net sales.

{¢) Provision for doubtful debis is to be maintained at 7 % % on debtors.
- (d4) Purchases include purchases of furniture on 1 January, 2004 worth Rs.45,000.

{e) Sales include sales of old fumiture for Rs. 16 000 on 1% Qctober, 2003, {(WDV of such furniture on 1%
Aprit 2003, was Rs.26,000).

{f) Fumnirture was to be depreciated by 10% p.a.

You are required to prepare the Profit & Loss Account of Mr. Gupta for the year ended 31%
March, 2004 znd slso 5 Balspce Sheet as on the date.

Z
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Q.2) From the under menticned Trisl Bzlance of Mitra & Co, prepare a Profit & Loss Account and a
Balance Sheet. :

.._iria{ Baiaace As on 31.63.2064

g—_'“‘"‘“ T Pariculars N - T e v "f
! Rs., s,
T [ Opening Stock " T T T ____'_“._%....-M_i*é&‘%@i:;:r:_::lj/
A LSmplelAe T e e ot
At Machinery T RS GG N
A~ | __Sundry Crediters P e | 40060 «”
A3 | Fitures & Fitings T S R A
fa \i_ Discoun:Recgived T T 3500 "]
A | Freehold Premises 15,000 T

" Bonk OverdraF e 30,000

L.

T ;Purchases_ < R i,S0,00Q_“
A

fa

| Provision for Bad Debis 3,000

i
T 0 Purchase Retwms , T 1 1,500
A Suadry Debtors L ) L . 33,000 .
T Sales(nety B . 3,37.070
T
1

s

L1 Salaries 14,000 1

i
f
|
]
|
|
i
]
|
I
i
1
|

.}

Manufacturing Expenses 15,000
Manufacturing Wages 30,000

\ SO

T Carriage [nwards e 2,000
P\ Camiage Ourwards 2000 —i ]
P2l _ Administative Expenses — | 10,600 [
A |_ Bad Debts B ) { 750 L
fPa L Interest and Bank Charges e e 6238 {
i

P2 Discount Allowed N 730 _
2. Insurance k1,500 ! 1

A | _CashatBagk b 695 T i
Cashin Hand Ao 150 | )
- 4895076 | 495070

The following adiustments are required:

{a} Closing stock as on 31% March, 2004 was Rs.57.060.

{(b) Depreciation on Plant and Machinery @ 10% Fixtures & Fittings /3@ 3%.
. {¢) Prepaid insurance Rs.560. ' )

(d) Prepaid salary Rs.600-

(e} Outstanding interest on overdra& Rs.2.500.

{f) Provision for bud debts is to be maintainad at 3% of sundry debtors. —

;
!
!
!
!
|
|
|
|
|
l
i
!
t
1
J!
(€

Q.3} Distinguish between.
AD_ Tangibie and Itangible Assets.
L/“{ Prepaid expenses and outstandin £ expenses,
\4(}}/ Filxed Assets and Current Assets.
fv)  Straight Line method and wrinien down value misthod of providing depreciation,

Q.4) Pasy Journal sntries for the following transactions.

\,ﬁ‘( - Brought Cash inte the business by way of capital Rs. 10000000
(j.-'a)/—/ Credit sales to x Rs. 500000 ‘
(i Received flom x Rs.500000 !
(ry2 (Cash Sales R3.5000

{ Berrowed from City Bank Ke 2600609

.VQ»/)‘ Paid interest on borrowed funds Rs 150060

AV Kepaid the loan w City Bank Rs.2000000

\OAl()  Paid Szlaries Rs,200068
;{ Dividend Received Rs.8000

lease rentals paid Rs. 1500



<5} Prepare ledger accounts for the above mansactions pives in Question 4,

Qﬁ%ﬁm’m sratufory Audlt and Interral Audit,

53 Describe GAADP. N
Q.7) Write short notes on (any 4}

(0 Conservation Concept

{i1} FIFO and LIFO

(iif) Reserves and Surplus

{iv) Balance Sheet

{v) Monsgtary Quahfication Concept

Q.E)_ £xplain o detail the Accounting Process.

rmrt e o







University of Mumbaj
Jamnalal Bajaj Institute of Management Studies
First Year First Semester 2009-2010
MHRD'M-{.MIIMJMFM }MM Mo

Sub : Financial Accounting -

Tuesday, 10:11-2009

(3 Hours)

{Total Marks 100

N.B.: L. Attempt any Five questions.
2. All questions carry equal marks.

l.  Pass Joumnal entries for the following transactions.
(1) Brought cash into the business by way of capital Rs.S0,00,QpO —_

(2) Credit Sales to X Rs.5,00,000
(3) Received from X Rs.5,00,000 -
- (4) Borrowed from city Bank Rs.7,00,000 ~

(5) Paid interest on borrowed funds Rs.70.000 ~

(6) Repaid the borrowed funds to City Bapk Rs.7,00,000 - -

(7) Cash Sales Rs.5,000 _

(8) Purchased Machinery on credit from Y Rs.1,00,000 _-

(9) Paidto Y Rs.1,00,000
(10)Paid wages Rs.75,000

Pregare ledger account for the above,

) (k

Plant and Machinery
Prepaid Expenses :
Income received in advance
Bills Payable '
Sundry Debtors

Bank Overdraft

/ Loan from Bank
_ Capital '
. Land
Drawings
Cash in Hand .
Furniture & Fixture
Accured Income
Outstanding Expenses
Bills Receivable
* Sundry Creditors
* Investments in shares of X T.td
Closing Stock '
Building
Goodwill
Net Profit
Cash at Bank

Froin the following information prepare a Balance sheet of Mr X as at 31-03-2007

‘Rs:100000

Rs.10000
Rs.100000

Rs.200000

Rs 10000
Rs.10000
Rs.5000
Rs.20000
Rs.2000
Rs.1000
Rs.2000
R5.99000
Rs.10000
Rs.85000
Rs.100000
Rs.10000
Rs.50000
Rs.10000

PTO



University of ¥iumbai
Jamnalal Bajaj Pnstitate of Mansgement Studies
First Year First Semester 26892010
MM/ MMM/ MBERDM/MIM
Sub : Principles of Management

Mouday, 16-41-2009 & Hours) (Total Msrks 109

M. 8. : 1. Attempt an¥ Four guestions.
3. Ali questions equal marics
¥ Descrive the contridytion of Henri Fayol 10 the wodd of Management -
- - . - - - - - - -
-2 Explsin and distingNish.” with SXaapies. fie concept of efficiency and -
‘.,/ =
effectiveness, i» Manageont

Explsin the various factors that Manzgess have 0 leok or to cope with a rapidiy

s
]

changing external eavirosmen

% Discuss the imponance of effective Grmnunicaton in the managerial process of
planning, budgeting, leadin~, direct]} ; and conaoliing.

5. Discuss the importance, to the s gerial process of plaming, dircciing,
controlling and motivating of “SMAR objectives and Key Result Arcas
(KRA’s) |

jﬂ(}r a Manager to be eftective, what praficiont skils should he have 7
\%icmify any Four different ways by which Managneat can departmentalize?

EREETURE TR A G XA by
;| pa’o’gfucfﬁ
(o o,
} . ; " = N,
, él'"%*&éﬁ’ﬂ[% /EQCC);'&Z:Q’F}\,>‘
a Soclonagyoap.

.
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6.

Disunguish berween
fa) Tzngible Assets and Imangible Assets
(b} Fixed Assets and Current Assets
(¢} Statutory Audit and Internal Audit
Explain the following :
(1 Net Block
(i) Net worth
(1i1) Nt current Assets
-~ (1v) & are Capital
‘\/ (v) Reserves and Surplus
vi) Secured loans
(vii)  Unsecured loans
(viii)  Current Liabilities
(ix)  Decpreciation
(x}. Investments
Explain the Accounting Process.
(a) What is capital and Revenue ex penditure o _,t,L“‘k
(b) State with reasons whether the following are capital or Revenue g A~
Expenditure : ' T
. (1) Expenses on foreign tour for purchasing a new
machinery '
(i1) Freight and Insurance on the new machinery
(iii}  Customs duty paid on import ol machinery
(1v)  Cartage paid 1o bring the new machine to factory
(v) Wages paid in connection with the erection of new machinery
(vi)  Rs.1000 spent on repairing a second hand machire hefo e put to use
(vi)  Rs.2000 spent to remove a worn out part and repiace it with new one
(viti)  Rs.800000 spent on advertising the introduction of 4 new product in the market, the
_ henefit of which will be effective for 3 1o 5 years.
(ix)  Rs.5000 spent on repainting the factory
(3

tJ

Heavy amount spent on research for a particular product which uitimately did not

resulf ) supcess.

8. Write shn:t notes on (Any Four)

{e. Accounting

(b> True and Fair

{c) GAAP

(d) Personal accounts, Real accounts, Normal accounting
(¢) Profit and loss accounting '

ok ok ok s sk ok ok ok ok o ok ok %

.\/37 .



University of Mumnibai
Jamnalal Bajaj Institute of Management Studies
First Year First Scmester 2662-20190
MFM/ MMM/MHRDM/MIM
Sub : Organisational Behaviors

Saturday, 14-11-2009 (3 Uours) (Total N{arks_l{}ﬁ

N. B. : 1. Question No. 1 is compulsory
~2. Attempt any Four questions {rom question numbers 2 to 8.
3. All questions carry equal marks

’]./

2.

3

5/
6.

Case Study
Explain the perceptual process with examples
A firm employing 3000 employees and in the business of selling branded

apparels faces unique motivational problem wherein managers and above are
demoralized due to low pay and other conditions. Please suggest means 10

improve their morale using any one of the motivational theories. 1x nlain this

theory in details

A MNC in India faces a typical leadership problem. The company is doing
well in terms of sales / revenue and market growth but the parents company
feels it lacks leadership at top level which will affect its working in the future.

Suggest and explain a leadership theory (or more) to the MNC which will heilp
tide over the situation.

Explain the relevance of OB in today’s organization.

. < T -
What is personality and also discuss its importance. What is A and B type of
personality and its relevance in industry? Discuss trait theory in personality -

vanee 10 S5 trall theory In pesot

a) Discuss importance of team working and importance of Team Dynamics in
organizalions

b) “Conflict is to same extent essential in an organization” Discuss

Atterapt any Two :
a) Individual Value System
~B) Conflict Management
¢} Self Asscssment
d) Lithical Behavior
c_2) Stress Management

PP P A

L4



SRR T

5 AJAJ INSTITUTE OF MANAGEMENT STUDIES
UNIVERSITY OF MUMBAI

SEMESTER-! EXAMINATION 2F-—10 _Q_ﬁo'\v w2

MMIVMF M/ MHRDM/MIV 3 \//
M. MARKS: @9 6T FINANCIAL ACCOUNTING DURATION 3 HRS.

4 Question No one is compulsory
Salve any four from the Rest.
prepare working notes wherever necessary

Duration Three hours

: ~9u"éstion No One { 20 Marks).
e A. {15 Marks) | :
From the following trial balance of M/s lain Traders; you are required o prepare Trading, Profit & Loss
Afc for the year ended 31% March 2012 and the Balance Sheetas on that date after taking in to account

the additional information:

Particulars ‘ [l ‘Debit
-

Bills Receivable / Tooo0 _lSales |

Cosh

-

Credit

709280
11200
121260

-

] gD

e e e
pening Stock 3 179400 | _,—:\
R G T

Adjustments:
e Wages for two months are due T / L .
>\%¥/ Create provision for Discount on Delitors at 10% 7| oL

: | o
X\f Machinery is to ke valued at 54,000/~ after providing dgpredation. f\; [

{” o 0

})X” Wwrite off Bad debls *1,000/- and create 29, Provision forgac Debts on delttors. 1y 7 &
{ .

!

X Goods costing '6,0C0/- were donsted. The antry 1o b2 paraa ST

)ﬁﬂ. Unrecorded Sales return '8,000/- T

G annual charge for traveiling expenses is 5,720/ 1




Ba}ai Instititute of Ma.nagemen.. Smdles-Fmanmal Accoummg Papar for MFM -1 . @‘

e
FaET s TR BT al\r_ax\"‘mmm:s- L

B, True or False —give reascns [any T five}-1 5 5 Marks)
(,1

i Rent paid Account ¢an show a credlt balance. e :
% 4. To know the financial position of 3 business, trial balance is prepared. . (f:j
Aiii, - If goods are dispatchea to Rohan on behalf of and instructions of Mahesh, then Rohan's . \t{,\ _ i_,_c“
. Account will be debited. ‘ ?Q";\c‘“ .
A4,  Anaccount Wil have debit palance, i the total of debit side of an account exceeds the g -
@ total of credit side of an account. @
Yy,  Cashaccountalways shows debit balance. Tt e

Yvi. Goods Account can never show 3 credit balance.
Jii.  Unexpired expensesare charged to Profit & L0SS Account.

. }u-é;tlon No Two { Any two)

\ { 10 marks } .
a} State the nature and purpose of Financial Accounting (/ . i la
/b)" indicate briefly the concepts and Conventions in Accounting. o lfh . k‘“r:", W
&) Journalise the following in the books of Shri Vaibhav . V?»"Zﬁ‘l-_'«'
7 2012 : « oo
h ¢ \1"\
March & Received gift of '51,000/- from father in law by chague, which is deposited into o~ n
. 48
v . f,l It o
business bank a/c. 'Lf“a}‘*
parch 7 Sokd goods at the tist price of *5,000/- for cash at 10% Trade discount and 2%
}Aééo cash discount. ‘
_ \*.5"- _ March 23 purchased T.V. from Smita Enterprises for househoid use for *13,000/- and paid
Ul .
)5\ _ half the amount from office and balance from personat bank account.
Marci 27 One of cur debtors, shrt Kulkarni who owes 200/ paid Rent “100/- ori our g Rw}ﬂ‘
Los o T
behalf _ ‘Q&Q m““‘"’\ e
March 31 purchased "2,000/-, 5% Govt security at 94% e
Question No Three { Any Two) ' ' ' {10 Marks }
- . .
e
<k, Define Capital Expenditure, Revenue Expenditure and Deferred Revenue expenditure.
B. Explain the basic principles in allocating expenditure between Capital & Revenue.
»C’ Distmgu;sh giving examples hetween Trial Balance and Balance sheet.
/ QLJGS'CIOH No Four { Any Two) {10 Marks) .

A, What are the different rmethods of providing depreciation?

g-"ls It necessary o provide aemecaatlon? If yes, then whatare the reasons?

, " ghow the machinery account for the year ended 31% March 2011.

£\ AlLtd. Which deprecaates is machinery @10% p.a. according to written down method {Red ucmg

'

balance method} Had orn 1% pprit 2010 '4,86,000 balance In its machinery account. During the

year ended ~4 szarch 2011 the machinary surchased on 1% Apnl 2008 for'60,000 was sold for”

-

G o AT e e




JAMNALAL BAJAT mSTITUTEME‘\IT OF MANAGEMENT STUDIES

_ *“L—i’?DM ’MIMMMMJ’MFM ¥

NOVEMBER 2011

FINANCIAL ACCOUNTING .
o ’ ” . Toime v A 2 e
DURATION : 3 HOURS ~ {2 NUV@«M”, 200 MARKS : 100

-- NOTES : 1. SOLVE ANY FIVE QUESTIONS.
2. ALL QUESTIONS CARRY EQUAL MARKS.

Q.1 : Prepare Tradmcr & Profit & Loss A/C of EARNWELL Ltd. for the year ended March 31, 2011 and |
the Balance Sheet as on that date from the followmg information and calculate it’s net worth :

EARNWELL LTD.
TRIAL BALANCE
" Transportation Charges - 248756  Profit & Loss A/C , 231546
Cash in Hand ~ 4246  Sales - 8752013
~ Furniture _ 150000  Share Premium | ‘ 425500
Debtors _ | 2246758  Bills Payable ‘ 378784
Computer‘Systems , - 388500  14% Debentures . 500000
Rusiness Promotion Expenses 592451 . Creditors ' . 2143587
Office Premises ~ 863214  Dividend on shares . - 36300
Vehicles . ; 2 421032  Provisionfor Taxation o 652500
Puszhizses 6386102  Term Loan from Bank - 258500
Travelling & Conveyance : 302125  Loans from Directors : . . 985787
Salaries 488231  General Reserve : . 345742
Shares in ABCLtd. . _ 200000  Share Capital” , 982540
Sales Returns - - 186523 | :
Postage & Courier _ 58213
Printing & Stationery : 24012
Professional Charges . 56500
Telephone & Fax S 132452
Cash at Bank _ - 31254
Advance Tax ' 500000 -
Stock (1.4.2010) -' 1265478
Carriage Inward - 102489
Membership Fees ' 22500
Advertisement o 298503
Loan to ABC Etd. 150000
Preliminary Expenses - 250000
Financial Expenses 201324

Office Expenses 122336 -

15692999 L 15692999



Additional Information :

N

7.
8.

. - ’éﬂ' . “ o
Closing Stock is valued at Rs. 1125452/-. However, the market value of the same 1s Rs. 903210/~
Depreciate Computer Systems @ 60% p. 2., Vehicles @ 13% p. a. & other assets @ 10% p. a.
Write off preliminary expenses Rs. 1,00,000/-

Outstanding Expenses are : Salaries Rs. 36,500/-, Audit Fees Rs. 50,000/-,

Financial Expenses do not include any debenture interest. ,

Authorised share capital of the company consists of 1,50,000 shares of Rs. 10/- each on which Rs.
7/- per share have been called. One shareholder holding 13,000 shares has paid the amount due on
his shares in full (i. e. Rs. 10/- per share) which has been wrongly been credited to share capitai a/c.
Provide tax @ 30%.

Transfer Rs. 1,00,000/- to General Reserve & provide dividend @ 10% on paid up capital if the
profits are sufficient.

}4 From the following trial balance, prepare Manufacturing, Trading & profit & Loss A/C for the year
ended March 31, 2011 and Balance Sheet as on that date :

SUN INDUSTRIES

TRIAL BALANCE
-2 Stock (1.4.2010)/ 16,18,728 Sales ¢~ 65477255
4 Furniture s/ 2,32,480 Creditors B - 5,12,500
2 & Plant & Machinery .’ 14,48,722 Bills Payable Bl ‘ 1,01,120
o & Debtors” 547,142 Term Loan from Bank ¥% 12.03.,742
1 ©» Purchases.~” 38,46,211 Loan from Mrs. Gandhi 2+ 5,00,000
«p Power & Fuel ~ 128,209 Capital B* ' 14,01,993
> Wages” _ 228,755 Intereston FD prtT 12,270
r& Computer Systems~” © . 2.00,000 Profit on sale of shares 3 25311
pi. Printing & Stationery.” 12,298
v Factory Rent" o 1,08,000
vE Advertisement/ 1,27,285
pe Selling & Distribution Expenses” 5,12,989
pPE Salaries 1,22,250
vt Travelling & Conveyance 1,01,178
<» Repairs & Maintenance (Factory),/ 48,275 3
g » CashinHand 7 _ 18,180
oA Cash at bank 7~ 32,150 \
+¢ Other Manufacturing Expenses.” 78,950 ;
pe. Transportation Charges~” o 1,24.652
wr Fixed Deposits with bank — 50,000
- 35 Bills Receivables -~ 1,25,000
pe Telephone & Fax -~ 1,28,785
p2xPostage & Courler - 12,955
ple General Expenses -~ . 1,69,997 i
o2 Professional Fees - ‘ 28,500
g & Loans & Advances .~ 2.20,000
o€ Staffloans 7 32,500



%
3

Add1t1onal Information:

/T/ Opening Stock consists of Raw Material Rs. 2,38,991; Work in Progress Rs. 5,03,219 and the

=

balance of finished goods.
~"Closing Stock is valued at — Raw Material Rs. 4,02 98' Work in Progress Rs. 7,47,595
Finished Goods Rs. 12,14,547.

7 Depreciate computer systems @ 60% p. a., Plant & Machinery @ 25% p. a. and other fixed assets @
10% p. a. '

M Outstanding Expenses : Wages Rs. 22,370; Salaries Rs. 11,360; Telephone Expenses Rs. S075;

6.

Q.3

‘Audit Fees Rs. 11,000; Factory Rent Rs. 12,000.

General Expenses includes insurance of Rs. 12,000 paid for the year ended Sept. 30, 2006
Sun Industries is a partnership of Sunil, Ashok & Rohan sharing profits & losses in the ratio of 4:3:2
and the opening balances in their capital accounts are also maintained in the same ratio.

: State whether the following statements are true or false by giving reasons {Any four) :

a. Preference shareholders are given dividend after equity shareholders are given.

b. A partnership firm is a separate legal entity.

¢. Going concern concept means the expenses or losses are to be recorded if anticipated but profit
should be booked only if ascertained.

d. Balance Sheet reflects the summary of expenses and incomes for the year.

¢. Only monetary transactions are reflected in financial accounting.

f. The authority of sanctioning of dividend lies with the Board of Directors.

g. Depreciation is a non cash charge.

| Q/./burnalise the following transactions :

Q.3

Q.K6:

a. Mr. Ravi commenced business with a capital of Rs. 150000/~ brought in business in cash.
b. Purchased furniture worth Rs. 16500/- in cash from Arihant Traders

¢. Paid Rs. 150000/ to Jyott Stores, the supplier, by cheque in full settlement against the amount of Rs
150640/-

d. Received Rs. 201500/ from Kiran Traders, the customer, by cheque against the dues of Rs. 201980/~ i in

full setilement.

Deposited cash of Rs. 30,000/- in bank.

Written off bad debts of Rs. 1,03,500/-

Provided outstanding salary of Rs. 15,600/-

Received Rs.2,00,000/- as loan from Satish

Gave Rs. 25,000/ to staff as loan for his marriage.

Gave Rs. 50,000/ to Siddharth Traders as advance against purchases.

v TR T O

Write short notes on (Any Four ):
_a Journal,
b. Preference Share Capitcl
Balance Sheet
d. Calls in arrears
e. Non Convertible Debentures
f. Discount on issue of shares

_g  GAAP;

a. Discuss the types of share capital and explain how the paid up share capital is reflected in the
Balance Sheet of a company.

b. Discuss the important characteristics of a company with special emphasis on limited liability
concept. |




Q. 7 : Distinguish between (Any Three}
a. Tangible and Intangible assets
Y. Partnership and company form of organisation
¢. Equity share capital and Preference share capital
d. Owned capital and borrowed capital for a private limited company
¢. Rights Issue and Bonus Issue

Q.8 : Prepare Machinery A/C and Accumulated Depreciation AJC reflecting the following transactions
under : '

i, Straight Line Method and
ii. Written Down Method
from the following information : ‘

The company purchased machines worth Rs. 34,50,000/- on 1.1.2006 and incurred Rs.
1,50,000/- on installation of the machine. The working life of the machine is 6 years and 1t 1s
expecied to fetch a scrap value of 10% of the cost at the end of 1’s working life.

The company sold a component worth Rs. 6,00,000/- on 31.10.08 for Rs. 4,52,500/-.

The company charges depreciation @ 20% p.a. under wriiten down value method.

Q.9: a ALtd hasan authorized capital of 1500000 equity shares of Rs. 10/- each and 100000 preference
shares of Rs. 100/- each. The company has issued all preference shares in full and collected full
amount on the same. However, it has issued 0% of equity shares on which 75% amount has been
called up. One shareholder holding 50,000 shares has not paid call money of Rs. 3/- per share and
shareholder holding 20,000 shares has paid Rs. 10/ in full on his shares.

Prepare schedule of share capital as per the requirements of Schedule VI to the Companies Act, 1956
as it will be presented in the Balance Sheet.

b. Prepare the Vertical format of Balance Sheet and explain the concept of Net Worth and Working
Capital.

llIIII’Ellll‘l.l.lll..'llII'IRIIIHIIIIlllllll‘Illllllll'lIIII‘Illll'l--‘l'l.l-ﬂilllﬂllgnl
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TG u L BAJAY INSTIT UTEMENT OF MANAGEMENT STUDIES
Mﬁvi IWIMBA IR T
NOVEMBER 2010 — | |
FINANCIAL ACCOUNTING
| DUR;ATION JHCGURS

NOThb 1. SOI VE ANY FIVE QU]LSTIONS —h
2 A,LL QUI}bTIONS CARRY 34 QUAL MARKS.

GROWMORE LTD.
"TRIAL BALANCE
Cashin Hand : 4598 Sales V.
¢ Compiites- Systcms b ‘ 246500 ° 14% Debentures S\
Purchases =1+ 4650748 Profit & Loss A/C O©OX
Travelling & . Conveyemcc ¥ ‘%J 103524  Share Premium = ¥—
= Furnitare. be , 254000 Dividend on shares -

«Salaries j WL/ 287965 Creditors < -
1214500 Term Loan from Bank < L—

455214 Bills Payable < L~ _
183190 #Provision for Taxation ¢~~"l&nr
16287508General Reserve % M .

109303 Share Capital ¢ & pite
688742 Loans from Directors 59 L~ -
| 22488 ' -

9'" "‘i"\

263987

250000

346514

500000

Postage& Couner ?BL’" ‘ 63415 _‘ ‘;,._;._.-‘ ‘

Business Promotion Expenses '?q?‘ - 233437
Mcmbcrshlp Fees ¥ L~ : ;235000
¢ Proféssional Cha.rgesﬁ? — 132500

SalesRetumsz/ ‘ . 246897 ) :

300060
300000

Fmanoiai Expenée§ X {/ - 198521 _ B 1,

Office’ Expenses 3? (O 301457

MARKS : 100

arg: Traamg & Prof t & Loss NC of Growmore Ltd for the year ended Marc'h 31,2010 and
,Shect as.onthat date from the followmg mformaﬁon and calculate it’§ net worth

8162968
560000
502141
258500

- 34100
- 932650
321659 .
TT632
221452
133450
746850
1222500




. additional Information : :
/ Closing Stock is valuedvat Rs. 1203125/-. However, the market value of the same is Rs.
1014125/-. . T : :
LS Depreciate Computer Systems @ 60% p. &., Vehicles @ 15% p. a. & other assets @ 10% p. 2.
‘/3’, _ANTite off preliminary expenses Rs. 100,000/ . R _
A Ouistanding Expenses are : Salaries Rs. 32,500/-, Audit Fees Rs. 4G,000/-, Professional Charges
Rs. 10,500/~ : T A T RIS

[5./ Financial Expenses do not include an debégt;iférin}é;ést. f;';‘.:_::_ S '
(d

il

Aathorised share capital of the company consists of 1,00,000 shares of Rs. 10/ each on which
Rs. 8/-.pershare have been called. Oue sharehglder hiolding. 22,000 sheres:has pridstheamout
duye on hisshares in full.(i. e. Rs. 10{- per share) which has been wronglybeen ¢reditéddoshare
capital a’c. .

7. Provide tax @ 40%. , ' -

3. Traasfer Rs. 1,00,000/- to General Reserve & provide dividend @ 10% on paid up capital if the
profits are sufficient. : .

Q 2 : Prepare Manufac{uﬁng & Trading & Profit & LosstA/C for the year ended on March 3%, 2610-and
Balance Sheet as on that date from the foliowing information : .. Sy

M/S GATI INDUSTRIES,

Purchases of raw material 48,64,680 Sales ‘ T B6,63,958-
Debtors 19,3 8,527 Dividend on shares - 6,750
-Cash in Hand ' 25,128 Credifors 12,01,785;
| Carriage Inward X - 49,330 Loan-from Mrs. Joshi - 5,45,000

‘Stock of Material (1.4.2009) . 6,39,385 Interest on FD - BOAE
Salaries : 1,63,545 WMr. John® Capital A/C C L ST46,742
Travelling & Conveyance : 1,42,592 Bills:Payable A IR -7 S L
Interest on loan : _ 32.462 Term Loan from Bank T 923782
Power & Fuel . : 1,02,914 : TR
Plant & machinery : 12,46,488
Wates; Charges 24,221
Wages o 3,01,002
. Telephone Charges ' 1,84,974
Stock of WiP (1.4:2009) ' 2,45,996
Printing & Stationery 42,010 ,
Computer System . 2,64,000 M
Repairs & Maintenance (Machine) 21,645
Fumiture. t 68,440
Stock of Finished Goods (1.4.°009) 9,68,112
Shares in-X Ltd. 316,400
Factory Rent 48,000 o9
Deposit for Office %,40,000
Insurance Charges (Faetory) 22,500
1rternet Charges 16,500
Vehicle Insurance 24,950
Trandportation Charges ' 2,72,475
Prifessional Charges 15,000 ;
Bills Receivables _ 31,200 g
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" Additional Information : : .
1. Closing Stock is valued at : Raw Materisl Rs.3,84,102/-; WIP Rs. 1,42,603/-; Finished Goods
Rs. 6,74,211/-. B
2. Depreciate computer systems @ 60% and all cther assets at 10% p.a.
3. .Outstanding Expenses are : Salaries Rs. 25,600/~ Audit Fees Rs. 30000/~ Telephone expenses
Rs. 124317~ Wages Rs. 22550/~'& Water Charges Rs. 4,048/-.°
4. Provide RDD @ 3% on debtors.
5. Purchase returns of Rs. 42,312/ have not been recorded.
) . 6. Interest on loan from Mrs. Joshi is to be provided for @, 14% p. a. for half year.

Q. 3 : State whether the following-statements are true or false by giving reasons (Any four) :
a. Depreciation is a non cash charge. - ‘
b. Dividend is a-tax deductible expenditure; _
c. Tallying of trial balanceis a test of accuracy of accounting entries.

‘d. The principle of consistency ensures that the results of different years remain comparable.
& 'Fiffanicil accouriting does not consider non monetary transactions.
f. Debentureholders are the real owners of the company.

Q. 4: Write short notes on (Any Four ); *
& Journal;, e
b." Equity Share Capital;
¢. Depreciation; .. -
d. GAAP;, e
i Appropriation of Profits:
- Amortisation of Expenses.
. Uncalled share capital

L€
f.
g
.. Q5: a Discuss the Iimitations of financial accouting, ' . ,
TR * b. Explain the concepts and chifegﬁ'st‘uhdsr financial accounting.

Q. 6 : Distinguish between (Any Three) : ' o
© oo wos 2 Stradght Line Method & Written Down Value methods.of depreciation
. b. Fixed Assects and Current Assets - ‘
c. Equity share capital and Preference share capital
d. Profit & Loss Account and Balance Sheet
e Rights Issue and Bonus Tssue '

b
I
[
;:
1
:

e % ‘Prepare Machinery A/C and Depreciation A/C reflecting the following transactions under :
v’ i Straight Line Method and ' :
1. 'Written Down Method i
from the following iriformation : ,
- The company purchased machines worth Rs. 34,50,000/- on 1.1.2006 and incurred Rs.
1,50,000/- on installation of the machine. The working life of the machine is 6 years and it is
- expected to fetch a scrap value of 10% of the cost at the end of it’s working life.
The company sold a component worth Rs. 6,00,000/- on 31.10.08 for Rs. 4,52,500/-.
The company. charges depreciation @ 20% p.a. under written down value method.




A
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{/QB/ Present the following information in the form of'a Jourhal : : T - :
a. Mr. Anil commericed busiriess with a cepital of Rs.'50;000/- in cash and Rs. 12,500/ i the form of
furniture. ) Se : o : C
b. Mrs. Nayna purchased fumniture worth Ks. 50,000/- from Nitin Sales on Crédit.
¢. Deepa appointed Rajaf as Sales Manager -~ " o
d. Rakesh received-Rs: 12,125/ as dividend on shdres’by cheque. -
e. Prem paid Rs. 3,00,000/- by chequeto his supplier, M/S Rajesh Traders. ‘ _ :
£. Roma received Rs. 1,50,0 00/- by cheque from..her«cu'stomer,‘-‘l\/ﬂsﬁaixi Traders;apaifist thedues of Rs.
1,54,220/~ in full settlement. : ce S T UL
g. M/S Novelty Traders wrote off dues of Rs. 12,500fv§from_-Sainy raders as'bad debts...
h. Mr. Ajit issued cheque of Rs:,7500/- to his staff- Mr. Ram against salary.
i. Mr. John received 2 cheque of Rs, 20,00,000/- as1 yan from Citibank, . R
j. Jagadish paid monthly nstalment of Rs. 12,500/- omcar {oan cosisisting of Rs. 4678/--8s interest and the
balance as principal. ' o . T '

~Q . Prepare ledger accounts and trial balance from the following transactions :

July 01, 2008 { Mr. John commenced business with a capital of Rs.25 0000/~ brought in business in cash and
eposited a sum of Rs.140000/- out of the same in Barlk. ¢ o

July 02,2008 He purchased goods worth Rs.680000/- from Gul Traders on,credit;(»/"

Tuly 03; 2008 {"He spent Rs.4500/-on freight to bring the goods to his godown. <

July 06, 2008 e sold 60% of the goods to M/s. Rambo Traders at aprofit of 25% oncost-on credit. « -
July 08, 2008 He received 80% of his dues from his customer. = . y N

July 12, 2008 ¢ He issued a cheque of Rs.250000/- to'his supplier.

July 18,2008 He applied for sales tax registration. ‘ ‘ _

July 22, 2008 ¢ He jssued a cheque of Rs.5000/- to his consultant. against professional fees. . ..

July 27,2008 { He received the balance amount from his customer. . L '
July 29, 2008 He jssued a cheque of Rs5000/ to his efoployee-against salafy.
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